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QUADRATIC EQUATIONS

QUADRATIC EQUATIONS (MULTIPLE CHOICE QUESTION)

1.  is a quadratic equation the roots are 

then =……….

A. 

B. 

C. 

D. 

2x2 + 3x − 1 = 0 α, β

α2 + β2

13

4

−13

4

4
13

−4
13

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_tgJZyxHjdIy9


Answer: A

Watch Video Solution

2.  is a quadratic equation the roots are 

then  is…………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − 5x + 2 = 0 α, β

α3 + β3

27
35

35

27

−35

27

−27
35

https://dl.doubtnut.com/l/_tgJZyxHjdIy9
https://dl.doubtnut.com/l/_tT7wpYUPvFnm


3.  is a quadratic equation, the roots are 

then  is………..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + px + q = 0 α, β

α4 + β4

p4 + 4p2q + 2q2

p4 + q4 − 2p2q2

p4 − 4p2q + 2q2

p4 + q4 + 2p2q2

4. The quadratic equation whose roots are reciprocal of the roots

of the equation  is-

A. 

ax2 + bx + c = 0

cx2 − bx − a = 0

https://dl.doubtnut.com/l/_YXnkEWlZCnni
https://dl.doubtnut.com/l/_UcoWFF6ZRyfT


B. 

C. 

D. 

Answer: D

Watch Video Solution

cx2 − bx = 0

cx2 + bx − a = 0

cx2 + bx + a = 0

5. IF  then the minimum value of  is…….

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

a > 0 3x2 + 4x + 1

−1

3

1

3

2

3

−2

3

https://dl.doubtnut.com/l/_UcoWFF6ZRyfT
https://dl.doubtnut.com/l/_5ksVQWwqHFr2


Watch Video Solution

6. If , then the minimum value of  is………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x > 0 + 5(x − )
2

11

3

7
2

3
11

11

3

−3
11

−11

3

7. Examine  is re-solvable into

two linear factors.

A. 

3y2 − 8xy − 3x2 − 29x + 3y − 18

Δ ≠ 0

https://dl.doubtnut.com/l/_5ksVQWwqHFr2
https://dl.doubtnut.com/l/_RKU7xCKHpDUe
https://dl.doubtnut.com/l/_PsyrUXjm0SCU


B. 

C. 

D. 

Answer: C

Watch Video Solution

Δ2 = 0

Δ = 0

Δ3 = 0

8. Solve:x(x+y+z)=6, 

A. x=0

B. x=-2

C. x=3

D. x=

Answer: D

y(x + y + z) = 12, z(x + y + z) = 18

±1

https://dl.doubtnut.com/l/_PsyrUXjm0SCU
https://dl.doubtnut.com/l/_4unkpqsoy91X


Watch Video Solution

9. The area of a rectangular plot is . The length of the plot is

one more than twice its breadth. The length and breadth of the

plot are

A. 33m,16m

B. 32m,15m

C. 30m,14m

D. 28m,12m

Answer: A

Watch Video Solution

528m2

https://dl.doubtnut.com/l/_4unkpqsoy91X
https://dl.doubtnut.com/l/_959Nh6jsxiv8


10. IF  have a common root,

then k

A. 1,3

B. 4,6

C. 1,4

D. 3,6

Answer: B

Watch Video Solution

x2 − 4x + 3 = 0, x2 − 5x + k = 0

11. IF one root of  is square that of the other, then

k=………

A. 1

x2 − x − k = 0

https://dl.doubtnut.com/l/_KKUYdlTKiHM2
https://dl.doubtnut.com/l/_TXIfZZs6UtEA


B. 

C. 

D. 

Answer: D

Watch Video Solution

2 + √5

2 − √5

2 ± √5

12. IF the sum of the roots of  is equal to the

sum of the squares of the roots, then……..

A. 

B. 

C. 

D. None

Answer: A

ax2 + bx + c = 0

b2 + ab = 2ac

a2 + bc = 2ab

c2 + ab = 2bc

https://dl.doubtnut.com/l/_TXIfZZs6UtEA
https://dl.doubtnut.com/l/_VcoIzXTdsgNc


Watch Video Solution

13. IF  then the equation whose

roots  is……

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

α2 = 5α − 6, β2 = 5β − 6, α ≠ β

,
α

β

β

α

x2 + 5x + 6 = 0

x2 + 5x − 6 = 0

6x2 − 13x + 6 = 0

6x2 + 13x + 6 = 0

14. √a + √a + √a + ......∞ = ....... .

https://dl.doubtnut.com/l/_VcoIzXTdsgNc
https://dl.doubtnut.com/l/_0ZffrDP6m36p
https://dl.doubtnut.com/l/_JOu35UtPY4P7


A. a

B. 

C. 

D. None

Answer: D

Watch Video Solution

1 + √4a + 1
2

1 − √4a
2

15. If the sum of a number and its reciprocal is , then that

number is……….

A. 

B. 

C. 

D. None

17
4

4 or
1

4

4 or
−1

4

−4 or
1

4

https://dl.doubtnut.com/l/_JOu35UtPY4P7
https://dl.doubtnut.com/l/_KnmCNIRBJXrB


Answer: A

Watch Video Solution

16. IF 3 is one root of  then k=……….

A. 3

B. 4

C. 5

D. 6

Answer: C

Watch Video Solution

x2 + kx − 24 = 0

https://dl.doubtnut.com/l/_KnmCNIRBJXrB
https://dl.doubtnut.com/l/_ntBlI9RWTTBv


17. IF the roots of  are equal, then

k=……….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

kx2 + x(k − 1) + (k − 1) = 0

1 or
1

3

1 or
−1

3

−1 or
1

3

−1 or
−1

3

18. The roots of  are

A. Rational are equal

B. Rational are not equal

2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_NSKFypm8njRN
https://dl.doubtnut.com/l/_kLKv33biX3lB


C. Irrational

D. Not real

Answer: D

Watch Video Solution

19. The condition that the roots of  may be in

the ratio m:n is………….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + bx + c = 0

mnb2 = ac(m + n)2

mnc2 = ab(m + n)2

mnb2 = 2ac(m + n)2

mnc2 = 2ab(m + n)2

https://dl.doubtnut.com/l/_kLKv33biX3lB
https://dl.doubtnut.com/l/_Qkn1dxVwn3C3


EXAMPLES

20. The equation whose roots are greater by 1 than those of

.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

2x2 + 3x + 5 = 0

2x2 − x + 4 = 0

x2 + 5x + 6 = 0

2x2 + 4x + 7 = 0

3x2 + 4x + 6 = 0

https://dl.doubtnut.com/l/_Qkn1dxVwn3C3
https://dl.doubtnut.com/l/_OUFxBA2G53oZ


1. Check whether the following equations are quadratic or not. 

Watch Video Solution

x2 − 6x − 4 = 0

2. Check whether the following equations are quadratic or not. 

Watch Video Solution

x3 − 6x2 + 2x − 1 = 0

3. Check whether the following equations are quadratic or not. 

Watch Video Solution

7x = 2x2

https://dl.doubtnut.com/l/_jwOqH1l32JDs
https://dl.doubtnut.com/l/_yoQIq7UPz831
https://dl.doubtnut.com/l/_DNlOiLUtSIgB


4. Check whether the following equations are quadratic or not. 

Watch Video Solution

x2 + = 2
1

x2

5. Check whether the following equations are quadratic or not. 

Watch Video Solution

(2x + 1)(3x + 1) = 6(x − 1)(x − 2)

6. Check whether the following equations are quadratic or not. 

Watch Video Solution

3y2 = 192

https://dl.doubtnut.com/l/_TZRCE2b9Ts7c
https://dl.doubtnut.com/l/_kIsb7lZtaCxb
https://dl.doubtnut.com/l/_zkHCq6CCksgf


7. Represent the following situations mathematically : 

Raju and Rajender together have 45 marbles. Both of then lost 5

marbles each. And the product of the number of marbles now they

have is 124.

Watch Video Solution

8. Represent the following situations mathematically 

The hypotenuse of a right triangle is 25cm. We know that the

difference in lengths of the other two sides is 5 cm. We would like

to find out the length of the two sides.

Watch Video Solution

9. Check whether the following are quadratic equations: 

(x − 2)2 + 1 = 2x − 3

https://dl.doubtnut.com/l/_1oCUxFU1Co9O
https://dl.doubtnut.com/l/_wJMJijDkoETn
https://dl.doubtnut.com/l/_pq3pifILSc9u


Watch Video Solution

10. Check whether the following are quadratic equations: 

Watch Video Solution

x(x + 1) + 8 = (x + 2)(x − 2)

11. Check whether the following are quadratic equations: 

Watch Video Solution

x(2x + 3) = x2 + 1

12. Check whether the following are quadratic equations: 

Watch Video Solution

(x + 2)3 = x3 − 4

https://dl.doubtnut.com/l/_pq3pifILSc9u
https://dl.doubtnut.com/l/_VJKBGQ9bxUvO
https://dl.doubtnut.com/l/_diqjdiU6plOY
https://dl.doubtnut.com/l/_jpOyRuHq0unY


13. Find the roots of the equation  by

factorisation.

Watch Video Solution

2x2 − 5x + 3 = 0

14. Find the roots of the quadratic equation 

Watch Video Solution

x − =
1

3x

1

6

15. Find the width of the space for spectators

View Text Solution

16. Find the roots of the equation  by the

method of completing the square.

W t h Vid S l ti

5x2 − 6x − 2 = 0

https://dl.doubtnut.com/l/_pdA5A0zgZfJI
https://dl.doubtnut.com/l/_ohZhcZht1rSs
https://dl.doubtnut.com/l/_uZCNrB4tiIGa
https://dl.doubtnut.com/l/_plNfb0FisYar


Watch Video Solution

17. Find the roots of  by the method of

completing the square.

Watch Video Solution

4x2 + 3x + 5 = 0

18. Find two consecutive odd positive integers, sum of whose

squares is
290.

Watch Video Solution

19. A rectangular park is to be designed whose breadth is 3 m less

than its length. Its area is to be 4 square metres more than area of

a park that has already been made in the shape of an isosceles

https://dl.doubtnut.com/l/_plNfb0FisYar
https://dl.doubtnut.com/l/_t3DVpXSVYQ5j
https://dl.doubtnut.com/l/_e4CNU0A60XfX
https://dl.doubtnut.com/l/_qaW2b32lg6Vk


triangle with its base as the breadth of the reatangular park and

of altitude 12m. Find its length and breadth.

Watch Video Solution

20. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

x2 + 4x + 5 = 0

21. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

2x2 − 2√2x + 1 = 0

https://dl.doubtnut.com/l/_qaW2b32lg6Vk
https://dl.doubtnut.com/l/_7my8UrVX07Oy
https://dl.doubtnut.com/l/_ajXtbhlp2uxd
https://dl.doubtnut.com/l/_YOlweNU4YZZJ


22. Find the roots of the following equations: 

Watch Video Solution

x + = 3, x ≠ 0
1

x

23. Find the roots of the following equations: 

Watch Video Solution

− = 3, x ≠ 0, 2
1

x

1

x − 2

24. A motor boat whose speed is 18km/h in still water. It takes 1

hour more to go 24km upstream than to return downstream to

the same spot. Find the speed of the stream.

Watch Video Solution

https://dl.doubtnut.com/l/_YOlweNU4YZZJ
https://dl.doubtnut.com/l/_qlX6kCJ2e50b
https://dl.doubtnut.com/l/_NMM5rQ8XNwa7


25. Find the discriminant of the quadratic equation

and hence find the nature of its roots.

Watch Video Solution

2x2 − 4x + 3 = 0

26. A pole has to be erected at a point on the boundary of a

circular park of diameter 13 metres in such a way that the

differences opposite fixed gates A and B on the boundary is 7

metres. Is it possible to do so ? If yes, at what distances from the

two gates should the pole be erected ?

Watch Video Solution

27. Find the discriminant of the equation  and

hence find the nature of roots. Find them, If they are real.

Watch Video Solution

3x2 − 2x + = 0
1

3

https://dl.doubtnut.com/l/_O5c4jI352sOw
https://dl.doubtnut.com/l/_QwDP0en2XB1E
https://dl.doubtnut.com/l/_spk06ijpjVDw


DO THIS

1. Solve the equations by completing the square. 

Watch Video Solution

x2 − 10x + 9 = 0

2. Solve the equations by completing the square 

Watch Video Solution

x2 − 5x + 5 = 0

3. Solve the equations by completing the square 

Watch Video Solution

x2 + 7x − 6 = 0

https://dl.doubtnut.com/l/_spk06ijpjVDw
https://dl.doubtnut.com/l/_l5xs50gKH5jN
https://dl.doubtnut.com/l/_1tZgIRebWHBt
https://dl.doubtnut.com/l/_GIwjBE2QLTSM


TRY THIS

Watch Video Solution

1. Check whether the following equations are quadratic or not . 

(i)  


 


(iii)  


(iv)  


(v)  


(vi) 

Watch Video Solution

x2 − 6x − 4 = 0

(ii)x3 − 6x2 + 2x − 1 = 0

7x = 2x2

x2 + = 2
1

x2

(2x + 1)(3x + 1) = 6(x − 1)(x − 2)

3y2 = 192

2. Verify that 1 and  are the roots of the equation 

Watch Video Solution

3

2

2x2 − 5x + 3 = 0.

https://dl.doubtnut.com/l/_GIwjBE2QLTSM
https://dl.doubtnut.com/l/_C8wZsIyELzxS
https://dl.doubtnut.com/l/_xYStgYl3zMhv


THINK & DISCUSS

Watch Video Solution

3. Explain the benefits of evaluating the discriminant of a

quadratic equation before attempting to solve it. What does its

value signifies? 

View Text Solution

(AS2, AS1)

4. Write three quadratic equations one having two distinct real

solutions, one having no real solution and one having exactly one

real solution.

Watch Video Solution

https://dl.doubtnut.com/l/_xYStgYl3zMhv
https://dl.doubtnut.com/l/_idiqqbRndEfO
https://dl.doubtnut.com/l/_IH8nclg2YSIz


EXERCISE 5.1

1. We have three methods to solve a quadratic equations. Among

these three, which metod would you like to use? Why?

Watch Video Solution

1. Check whether the following are quadratic equations: 

Watch Video Solution

(x + 1)2 = 2(x − 3)

2. Check whether the following are quadratic equations: 

Watch Video Solution

x2 − 2x = ( − 2)(3 − x)

https://dl.doubtnut.com/l/_0bYopSiqJk5b
https://dl.doubtnut.com/l/_2QfBqs2wKhFi
https://dl.doubtnut.com/l/_iS7Hi96aExVL


3. Check whether the following are quadratic equations: 

Watch Video Solution

(x − 2)(x + 1) = (x − 1)(x + 3)

4. Check whether the following are quadratic equations: 

Watch Video Solution

(x − 3)(2x + 1) = x(x + 5)

5. Check whether the following are quadratic equations: 

Watch Video Solution

(2x − 1)(x − 3) = (x + 5)(x − 1)

https://dl.doubtnut.com/l/_QxJFYs4EQGNK
https://dl.doubtnut.com/l/_j6PIgkqVKw1a
https://dl.doubtnut.com/l/_1jn3PVfZbvJU


6. Check whether the following are quadratic equations: 

Watch Video Solution

x2 + 3x + 1 = (x − 2)2

7. Check whether the following are quadratic equations: 

Watch Video Solution

(x + 2)3 = 2x(x2 − 1)

8. Check whether the following are quadratic equations: 

Watch Video Solution

x3 − 4x2 − x + 1 = (x − 2)3

https://dl.doubtnut.com/l/_U9wbML8TteS0
https://dl.doubtnut.com/l/_6lqE7pAmMwiO
https://dl.doubtnut.com/l/_hI2dmenZe6gx


9. The area of a rectangular plot is . The length of the plot is

one more than twice its breadth. The length and breadth of the

plot are

Watch Video Solution

528m2

10. The product of two consecutive positive integers is 306. We

need to find the integers.

Watch Video Solution

11. Rohan's mother is 26 years older than him. The product of their

ages after 3 years will be 360. Then write the required quadratic

equation to find Rohan's present age.

Watch Video Solution

https://dl.doubtnut.com/l/_JFy43uMiEKut
https://dl.doubtnut.com/l/_Vsxhp8EaCKrE
https://dl.doubtnut.com/l/_nf4kZAF0pPTO


EXERCISE 5.2

12. A train travels a distance of 480 km at a uniform speed. If the

speed had been 8km/h less, then it would have taken 3 hours more

to cover the same distance. We need to find the speed of the train.

Watch Video Solution

1. Find the roots of the following quadratic equations by

factorisation. 

Watch Video Solution

x2 − 3x − 10 = 0

2. Find the roots of the following quadratic equations by

factorisation 

https://dl.doubtnut.com/l/_eKFPrpS0q1Gm
https://dl.doubtnut.com/l/_6jZFSHsMTaec
https://dl.doubtnut.com/l/_O7rdtvHQ5D4D


Watch Video Solution

2x2 + x − 6 = 0

3. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

√2x2 + 7x + 5√2 = 0

4. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

2x2 − x + = 0
1

8

https://dl.doubtnut.com/l/_O7rdtvHQ5D4D
https://dl.doubtnut.com/l/_GrrOy5rRChGu
https://dl.doubtnut.com/l/_t2U5KCNDVW6i


5. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

100x2 − 20x + 1 = 0

6. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

x(x + 4) = 12

7. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

3x2 − 5x + 2 = 0

https://dl.doubtnut.com/l/_S1QMLbnhLAgb
https://dl.doubtnut.com/l/_iVOmmswdFrXZ
https://dl.doubtnut.com/l/_PEG7zxkEcjTx


8. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

x − = 2
3

x

9. Find the roots of the following quadratic equations by

factorisation 

Watch Video Solution

3(x − 4)2 − 5(x − 4) = 12

10. Find two numbers whose sum is 27 and product is 182.

Watch Video Solution

https://dl.doubtnut.com/l/_PEG7zxkEcjTx
https://dl.doubtnut.com/l/_5YpatCodXZOo
https://dl.doubtnut.com/l/_r15fNYh6iFfU
https://dl.doubtnut.com/l/_1Nf3jgP7eNey


11. Find two consecutive positive integers, sum of whose squares is

613.

Watch Video Solution

12. The altitude of a right triangle is 7cm less then its base. If the

hypotenuse is 13cm, find the other two sides.

Watch Video Solution

13. A cottage industry produces a certain number of pottery

articles in a day. It was observed on a particular day that the cost

of production of each article (in rupees) was 3 more than twice the

number of articles produced on that day. If the total cost of

production on that day was Rs. 90, find the number of articles

produced and the cost of each article.

https://dl.doubtnut.com/l/_kzElHDMCf7pp
https://dl.doubtnut.com/l/_7x6Kxv3uEPNs
https://dl.doubtnut.com/l/_XAXZnUHpcN59


Watch Video Solution

14. Find the dimensions of a rectangle whose perimeter is 28

meters. And whose area is 40 square meters.

Watch Video Solution

15. The base of a triangle is 4cm longer than its altitude. If the area

of the triangle is 48 sq.cm, then find its base and altitude.

Watch Video Solution

16. Two trains leave a railway station at the same time. The first

train travels towards west and the second train towards north.

The first train travels 5 km/hr faster then the second train. If after

https://dl.doubtnut.com/l/_XAXZnUHpcN59
https://dl.doubtnut.com/l/_7kzRZwwf0i7B
https://dl.doubtnut.com/l/_DbPG6DPPNioY
https://dl.doubtnut.com/l/_5vkIpojmOc84


two hours they are 50 km. apart, find the average speed of each

train.

Watch Video Solution

17. In a class of 60 students, each boy contributed rupees equal to

the number of girls and each girl contributed rupees equal to the

number of boys. If the total money then collected was Rs. 1600,

how many boys are there in the class?

Watch Video Solution

18. A motor boat heads upstream a distance of 24km on a river

whose current is running at 3km per hours. Assuming that the

motor boat maintained a constant speed, what was its speed ?

Watch Video Solution

https://dl.doubtnut.com/l/_5vkIpojmOc84
https://dl.doubtnut.com/l/_RFWUt16mD6sU
https://dl.doubtnut.com/l/_Ps69uFYRKEZw


EXERCISE 5.3

1. Find the roots of the following quadratic equations, if they exist,

by the method of completing the square: 

Watch Video Solution

2x2 + x − 4 = 0

2. Find the roots of the following quadratic equations, if they exist,

by the method of completing the square: 

Watch Video Solution

4x2 + 4√3x + 3 = 0

3. Find the roots of the following quadratic equations, if they exist,

by the method of completing the square: 

https://dl.doubtnut.com/l/_fgIoWOz6IzP0
https://dl.doubtnut.com/l/_R2JkT3c5YJCn
https://dl.doubtnut.com/l/_05Vw9Sx4L6C9


Watch Video Solution

5x2 − 7x − 6 = 0

4. Find the roots of the following quadratic equations, if they exist,

by the method of completing the square: 

Watch Video Solution

x2 + 5 = − 6x

5. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

2x2 + x − 4 = 0

https://dl.doubtnut.com/l/_05Vw9Sx4L6C9
https://dl.doubtnut.com/l/_LmXtLpaswcVK
https://dl.doubtnut.com/l/_Rd8XQSaJFQqM


6. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

4x2 + 4√3x + 3 = 0

7. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

5x2 − 7x − 6 = 0

8. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

x2 + 5 = − 6x

https://dl.doubtnut.com/l/_xVIPjqxnMFT7
https://dl.doubtnut.com/l/_aJz8u9u4h9ZK
https://dl.doubtnut.com/l/_TKmFz7Hcv8EI


9. Find the roots of the following equations : 

Watch Video Solution

x − = 3, x ≠ 0
1

x

10. Find the roots of the following equations : 

Watch Video Solution

− = , x ≠ − 4, 7
1

x + 4

1

x − 7

11

30

11. The sum of the reciprocals of Rehman ages, (in years) 3 years

ago and 5 year from now is  Find his present age.

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_TKmFz7Hcv8EI
https://dl.doubtnut.com/l/_84H23PHV6uOw
https://dl.doubtnut.com/l/_rNrljtkoKLua
https://dl.doubtnut.com/l/_X6bbl6l65RAa
https://dl.doubtnut.com/l/_MgWP9bYP3JvC


12. In a class test, the sum of Moulika's marks in Mathematics and

English is 30. If she got 2 marks more in Mathematics and 3 marks

less in English, the product of her marks would have been 210.

Find her marks in the two subjects.

Watch Video Solution

13. The diagonal of a rectangular field is 60 metres more than the

shorter side. If the longer side is 30 metres more then the shorter

side, find the sides of the field.

Watch Video Solution

14. The difference of squares of two numbers is 180. The square of

the smaller number is 8 times the larger number.Find the two

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_MgWP9bYP3JvC
https://dl.doubtnut.com/l/_QwbbE0lhPTRa
https://dl.doubtnut.com/l/_EQct7nyM0syc


Watch Video Solution

15. A train travels 360 km at a uniform speed. If the speed had

been 5 km/h more, if would have taken 1 hour less for the same

journey. Find the speed of the train.

Watch Video Solution

16. Two water taps together can fill a tank in  hours. The tap of

larger diameter takes 10 hours less than the smaller one to fill the

tank separately. Find the time in which each tap can separately fill

the tank.

Watch Video Solution

9
3

8

https://dl.doubtnut.com/l/_EQct7nyM0syc
https://dl.doubtnut.com/l/_vNd9JmvUxTVx
https://dl.doubtnut.com/l/_w8btNkbk35WA


17. An express train takes 1 hour less than a passenger train to

travel 132 km between Mysore and Bangalore (without taking into

consideration the time they stop at intermediate stations). If the

average speed of the express train is 11 km/hr more then that of

the passenger train, find the average speed of the two trains.

Watch Video Solution

18. Sum of the areas of two squares is 468  If the difference of

their perimeters is 24m, find the sides of the two squares.

Watch Video Solution

m2

19. If a polygon of 'n' sides has  diagonals. How many

sides will a polygon having 65 diagonals ? Is there a polygon with

50 diagonals?

n(n − 3)
1

2

https://dl.doubtnut.com/l/_pgGYpFRvoxZz
https://dl.doubtnut.com/l/_K6fFRoSTB5d8
https://dl.doubtnut.com/l/_bEvraxPt6Pzl


EXERCISE 5.4

Watch Video Solution

1. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

2x2 − 3x + 5 = 0

2. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

3x2 − 4√3x + 4 = 0

https://dl.doubtnut.com/l/_bEvraxPt6Pzl
https://dl.doubtnut.com/l/_8b4rPMrVMn2X
https://dl.doubtnut.com/l/_AHDicTMonw0m


3. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

2x2 − 6x + 3 = 0

4. Find the values of k for each of the following quadratic

equations so that they have two equal roots. 

Watch Video Solution

2x2 + kx + 3 = 0

5. Find the values of k for each of the following quadratic

equations so that they have two equal roots. 

Watch Video Solution

∴ k = 6

https://dl.doubtnut.com/l/_UInsbSHpVssU
https://dl.doubtnut.com/l/_UpbIY50HCISJ
https://dl.doubtnut.com/l/_WSERbcWngwz6


6. Is it possible to desigh a rectangular mango grove whose length

is twice its breadth, and the area is 800  ? If so find its length

and breadth.

Watch Video Solution

m2

7. The sum of the ages of two friends is 20 years. Four years

ago,the product of their ages in years was 48. Is the above

situation possible ? If so, determine their present ages

Watch Video Solution

8. Is it possible to desigh a rectangular park of perimeter 80m and

area  ? If so, find its length and breadth.

Watch Video Solution

400m2

https://dl.doubtnut.com/l/_WSERbcWngwz6
https://dl.doubtnut.com/l/_SorW64oH6EE7
https://dl.doubtnut.com/l/_bPrLAlUJedzE
https://dl.doubtnut.com/l/_qpZAWiQlMTVp


OPTIONAL EXERCISE

1. Some points are plotted on a plane. Each point is joined with all

remaining points by line segments. Find the number of points if

the number of line segments are 15.

Watch Video Solution

2. A two digit number is such that the product of its digits, is 8.

When 18 is added to the number, they interchange their places.

Determine the number.

Watch Video Solution

https://dl.doubtnut.com/l/_qpZAWiQlMTVp
https://dl.doubtnut.com/l/_iI1JI2LIeHe8
https://dl.doubtnut.com/l/_flECyWkJJoOT


3. A piece of wire 8m in length is cut into two pieces and each

piece is bent into a squares. Where should the cut in the wire be

made if the sum of the areas of these squares is to be 2 ?

Watch Video Solution

m2

4. Vinay and Praveen working together can paint the exterior of a

house in 6 days. Vinay by himself can complete the job in 5 days

less than praveen. How long will it take Vinay to complete the job

by himself?

View Text Solution

5. Show that the sum of roots of a quadratic equation

Watch Video Solution

ax2 + bx + c = 0is
−b

a

https://dl.doubtnut.com/l/_8125In8OWWOg
https://dl.doubtnut.com/l/_OTmm6FOimmhP
https://dl.doubtnut.com/l/_9eTT1HPL3m9N


6. The product of roots of quadratic equation  is

Watch Video Solution

ax2 + bx + c = 0

7. The denominator of a fraction is one more than twice the

numerator. If the sum of the fraction and its reciprocal is ,

find the fraction.

Watch Video Solution

2
16
21

8. A ball is thrown vertically upwards from the top of a building of

height 29.4m and with an initial velocity 24.5 m/sec. If the height H

of the ball from the ground level is given by

, then find the time taken by the ball to

reach the ground.

H = 29.4 + 24.5t − 4.9t2

https://dl.doubtnut.com/l/_9eTT1HPL3m9N
https://dl.doubtnut.com/l/_qFmtZDy7Gj0H
https://dl.doubtnut.com/l/_udm1PfNvkSh9
https://dl.doubtnut.com/l/_ODu8vEcaf27A


OBSERVATION MATERIAL TO SOLVE VARIOUS QUESTIONS GIVEN IN THE

PUBLIC EXAMINATION

Watch Video Solution

1.  then write the roots of a quadratic equation 

Watch Video Solution

Ifb2 − 4ac ≥ 0

ax2 + bx + c = 0

2. Find a quadratic polynomial with zeroes -2 and .

Watch Video Solution

1

3

3. Two angles are complementary and one angle is  more than

the other. Then find angles.

18∘

https://dl.doubtnut.com/l/_ODu8vEcaf27A
https://dl.doubtnut.com/l/_yTYqs01JCQN0
https://dl.doubtnut.com/l/_mxD7Sk1QsMrH
https://dl.doubtnut.com/l/_bGXFxXuexvFd


Watch Video Solution

4.  then what can you say

about roots of the equation ? 

Watch Video Solution

Ifb2 − 4ac > 0inax2 + bx + c = 0,

(a ≠ 0)

5. Find the value of k, if 2 is one of the roots of the quadratic

equation 

Watch Video Solution

x2 − kx + 6 = 0

6. In a rectangle ABCD, AB = x + y, BC = x - y, CD = 9 and AD = 3. Find

the values of x and y. 

https://dl.doubtnut.com/l/_bGXFxXuexvFd
https://dl.doubtnut.com/l/_Iagb5qmTV04E
https://dl.doubtnut.com/l/_bCBAzaK8mcLI
https://dl.doubtnut.com/l/_E6vsnjfpMDKF


Watch Video Solution

7. Write the nature of roots of the quadratic equation

Watch Video Solution

2x2 − 5x + 6 = 0

8. Write the nature of the roots of the quadratic equation

Watch Video Solution

x2 − 8x + 16 = 0

https://dl.doubtnut.com/l/_E6vsnjfpMDKF
https://dl.doubtnut.com/l/_lx2eq3dNIDjv
https://dl.doubtnut.com/l/_7rKtrPdpX89u


9. Find sum and product of roots of the Quadratic equation 

Watch Video Solution

x24√3x + 9 = 0

10. Find the roots of 

Watch Video Solution

x + = 7, x ≠ 0
6

x

11. Length of a rectangle is 2 units greater than its breadth. If the

area of the rectangle is 120 sq. units then find its length.

Watch Video Solution

12.  has equal roots, find the value of k.

W t h Vid S l ti

If9x2 + kx + 1 = 0

https://dl.doubtnut.com/l/_yRCZDvEtkbd6
https://dl.doubtnut.com/l/_QMWjqbzsIel3
https://dl.doubtnut.com/l/_uZB0tGhX7NQQ
https://dl.doubtnut.com/l/_txVnPg71Ih8S


Watch Video Solution

13. If the measure of angles of a triangle are  and

difference between the two measures of angles 

then find the values of 

Watch Video Solution

x ∘ , y ∘ and 40∘

x ∘ and y ∘ is30∘

x ∘ and y ∘

14. The sum of a number and its reciprocal is  Find the number.

Watch Video Solution

10

3

15. Is it possible to design a rectangular genden, whose length is

twice of its breadth and area is  ? If so, find its length and

breadth.

Watch Video Solution

200m2

https://dl.doubtnut.com/l/_txVnPg71Ih8S
https://dl.doubtnut.com/l/_0O3RcrYvy2rf
https://dl.doubtnut.com/l/_THNy7APuyVg2
https://dl.doubtnut.com/l/_3kegl5XvQ2Wk


16. If the equation  has equal roots, then find

the value of k.

Watch Video Solution

kx2 − 2kx + 6 = 0

17. Find the zeroes of the quadratic polynomial  and

verify the relation between the zeroes and its co-efficients.

Watch Video Solution

x2 − x − 30

18. Find the roots of the following quadratic equations, if they

exist, by the method of completing the square: 

Watch Video Solution

5x2 − 7x − 6 = 0

https://dl.doubtnut.com/l/_3kegl5XvQ2Wk
https://dl.doubtnut.com/l/_qoJt7C67zxdx
https://dl.doubtnut.com/l/_SD8N3f5kjggn
https://dl.doubtnut.com/l/_jRTNRbUTTAom
https://dl.doubtnut.com/l/_qIoUJrgmwUCU


19. Sum of the squares of two consecutive positive even integers is

100 , find those numbers by using quadratic equations.

Watch Video Solution

20. The perimeter of a right- angled triangle is 60 cm. and its

hypotenuse is 25 cm. Then find the remaining two sides.

Watch Video Solution

21. If - 4 is common root for the quadratic equations

 then find the value of

'k'.

Watch Video Solution

2x2 + px + 8 = 0 and p(x2 + x) + k = 0

https://dl.doubtnut.com/l/_qIoUJrgmwUCU
https://dl.doubtnut.com/l/_OxK76kCPxiqN
https://dl.doubtnut.com/l/_k3yIhtZD1wix


OBSERVATION BITS TO SOLVE VARIOUS BITS GIVEN IN THE PUBLIC

EXAMINATION

22. Sum of squares of two consecutive even numbers is 580. Find

the numbers by writing a sultable Quadratle equation.

Watch Video Solution

1. The general form of a quadratic equation in variable x is……

A. 

B. 

C. 

D. 

Answer: A

ax2 + bx + c = 0(a ≠ 0)

ax + bx2 + c = 0(b ≠ 0)

ax2bx = 0(a ≠ 0)

a2x + bx + c = 0(b ≠ 0)

https://dl.doubtnut.com/l/_XnmvMIZwey6I
https://dl.doubtnut.com/l/_IDDclSHL7uSz


Watch Video Solution

2. The possible number of roots to a quadratic equation are….

A. At a maximum of 3

B. At a maximum of 2

C. Infinite

D. At a maximum of 5

Answer: B

Watch Video Solution

3. If the roots of a quadratic equation  are

imaginary then……

A. 

px2 + qx + r = 0

q2 > 4pr

https://dl.doubtnut.com/l/_IDDclSHL7uSz
https://dl.doubtnut.com/l/_MVSEKErTcVXq
https://dl.doubtnut.com/l/_Bi8HD4Ogl3vW


B. 

C. 

D. 

Answer: B

Watch Video Solution

q2 < 4pr

q2 = 4pr

p = q + r

4. The discriminant of quadratic equation  is…

A. 35

B. 36

C. 33

D. 38

Answer: C

W t h Vid S l ti

2x2 + x − 4 = 0

https://dl.doubtnut.com/l/_Bi8HD4Ogl3vW
https://dl.doubtnut.com/l/_gXNRUpSSNJOv


Watch Video Solution

5. The product of roots of quadratic equation  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ax2 + bx + c = 0

c

a

−b

a

−c

a

b

c

6. For what positive value of x the quadratic equation 

A. 

B. 

4x2 − 9 = 0

2

3

−2

3

https://dl.doubtnut.com/l/_gXNRUpSSNJOv
https://dl.doubtnut.com/l/_XcBi7KTZJOut
https://dl.doubtnut.com/l/_2qrZ9TocmFrn


C. 

D. 

Answer: D

Watch Video Solution

−3

2

3

2

7. Two angles are complementary. If the larger angle is twice the

measure of a smaller angle, then smaller is…

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

30∘

45∘

60∘

15∘

https://dl.doubtnut.com/l/_2qrZ9TocmFrn
https://dl.doubtnut.com/l/_pymGhrIBUObl


8. If one root of 

A. 3

B. 4

C. 1

D. 

Answer: D

Watch Video Solution

2x2 + kx − 6is2, thenk = .... .

−1

9. If the roots of 

A. 5

B. 

x2 + 6x + 5 = 0areα and βthenα + β =

−6

https://dl.doubtnut.com/l/_pymGhrIBUObl
https://dl.doubtnut.com/l/_7yGJs6ogXKYr
https://dl.doubtnut.com/l/_3UM2NKCt8xN9


C. 6

D. 

Answer: B

Watch Video Solution

−1

10. A quadratic equation, whose roots are 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 + √3 and 2 − √3 =

x2 − x − 4 = 0

x2 − 4x + 1 = 0

x2 + 4x + 3 = 0

x2 + x − 3 = 0

https://dl.doubtnut.com/l/_3UM2NKCt8xN9
https://dl.doubtnut.com/l/_enBEyS8QyuSO


11. The adjacent diagram indicates….. 

A. 

B. 

C. 

D. None of the given

b2 − 4ac > 0

b2 − 4ac = 0

b2 − 4ac < 0

https://dl.doubtnut.com/l/_enBEyS8QyuSO
https://dl.doubtnut.com/l/_jznAYN7hDXkl


Answer: A

Watch Video Solution

12. 

A. 9

B. 8

C. 

D. 10

Answer: B

Watch Video Solution

Ifα, βare the roots ofx2 − 10x + 9 = 0, then|α − β| =

−10

https://dl.doubtnut.com/l/_jznAYN7hDXkl
https://dl.doubtnut.com/l/_9GjIHuqsPdck


13. Which one of the following figures shows the quadratic

equation  having distinct roots?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)

https://dl.doubtnut.com/l/_YbPu0LwMFvLz


14. If 1 is a common root of

A. 2

B. 

C. 3

D. 

Answer: A

Watch Video Solution

ax2 + ax + 2 = 0 and x2 + x + b = 0thena. b =

−2

−3

15. The number of diagonals for an n sided polygon is

A. 
n(n + 1)

2

https://dl.doubtnut.com/l/_YbPu0LwMFvLz
https://dl.doubtnut.com/l/_WnfGGynO8Gbk
https://dl.doubtnut.com/l/_9rjIA9U7Mkqf


B. 

C. 

D. 

Answer: C

Watch Video Solution

n(n − 1)

2

n(n − 3)

2

n(n + 3)

2

16. A quadratic equation has two distinct real

roots, if….

A. 

B. 

C. 

D. None of the given

Answer: A

ax2 + bx + c = 0

b2 − 4ac > 0

b2 − 4ac < 0

b2 − 4ac = 0

https://dl.doubtnut.com/l/_9rjIA9U7Mkqf
https://dl.doubtnut.com/l/_ffHEC0RfFTAU


Watch Video Solution

17. The discriminant of the quadratic equation 

is….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

px2 + qx + r = 0

p2 − 4qr

q2 − 4pr

q2 + 4pr

r2 − 4pq

18. The discriminant of 6x2 − 5x + 1 = 0is

https://dl.doubtnut.com/l/_ffHEC0RfFTAU
https://dl.doubtnut.com/l/_XsPqWjS5jpFt
https://dl.doubtnut.com/l/_T6zGRFr7EGBG


A. 1

B. 2

C. 6

D. 

Answer: A

Watch Video Solution

−
5

6

19. One root of the equation  is……….

A. 1

B. 2

C. 3

D. 4

x − = 2
3

x

https://dl.doubtnut.com/l/_T6zGRFr7EGBG
https://dl.doubtnut.com/l/_udyx6KywXqth


Answer: C

Watch Video Solution

20. The quadratic polynomial, whose zeroes are  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√2 and − √2

x2 − 2

x2 + 2

x2 + √2

x − 2

https://dl.doubtnut.com/l/_udyx6KywXqth
https://dl.doubtnut.com/l/_1nF95MghiKjI


21. If the equation  has real and distinct roots,

then….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 5x + K = 0

K = 6

K < 6.25

K > 6

K > 25

22. The quadratic polynomial, whose zeros are 2 and 3, is…..

A. 

B. 

x2 − 5x − 6

x2 + 5x − 6

https://dl.doubtnut.com/l/_GZ9AgvcOismd
https://dl.doubtnut.com/l/_z3s2Ppzis4vI


C. 

D. 

Answer: C

Watch Video Solution

x2 − 5x + 6

x2 + 5x + 6

23. Observe the given rectangular figure, then its area in

polynomial function is …. 

A. A(x) = x2 + 7x + 30

https://dl.doubtnut.com/l/_z3s2Ppzis4vI
https://dl.doubtnut.com/l/_l7atRW3fiymX


B. 

C. 

D. 

Answer: B

Watch Video Solution

A(x) = − x2 + 7x + 30

A(x) = x2 − 7x + 30

A(x) = − x2 − 7x + 30

24. Which of the following is a quadratic equation?

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

x3 − 6x2 + 2x − 1 = 0

x2 + = 2
1

x2

x + = 3
1

x

(x + 1)(x + 2)(x + 3) = 0

https://dl.doubtnut.com/l/_l7atRW3fiymX
https://dl.doubtnut.com/l/_oaEt39lR5em9


Watch Video Solution

25. Observe the following graphs. 

 


Which as them are the graphs of quadratic polynomials?

A. (i) , (ii) and (iii)

B. (i) and (iii)

C. (i) and (iv)

D. (i) , (iii) and (iv)

Answer: C

W h Vid S l i

https://dl.doubtnut.com/l/_oaEt39lR5em9
https://dl.doubtnut.com/l/_CfPOLnBCDobM


Watch Video Solution

26. Which of the following quadratle. Equations the roots are

equal?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 5 = 0

x2 − 10x + 25 = 0

x2 + 5x + 6 = 0

x2 − 1 = 0

27. The quadratic polynomial having  as its zeroes, is…..

A. 

and
1

3

1

2

x2 +
5x + 1

6

https://dl.doubtnut.com/l/_CfPOLnBCDobM
https://dl.doubtnut.com/l/_Zp10rVg97QLX
https://dl.doubtnut.com/l/_AKBxEI04D0Rl


B. 

C. 

D. 

Answer: C

Watch Video Solution

−6x2 − 5x + 1

x2 −
5x − 1

6

6x2 − 5x − 1

28.  has distinct

real roots. Then…

A. 

B. 

C. 

D. 

Answer: B

Ifx2 − px + q = 0(p, q ∈ R and p ≠ 0, q ≠ 0)

p2 < 4q

p2 > 4q

p2 = 4q

p2 + 4q = 0

https://dl.doubtnut.com/l/_AKBxEI04D0Rl
https://dl.doubtnut.com/l/_0cxZbDQk6zxj


Watch Video Solution

29. In a quadratic equation  then

their roots are ….

A. real and distinct

B. real and equal

C. imaginary

D. none

Answer: A

Watch Video Solution

ax2 + bx + c = 0ifb2 − 4ac > 0

30. If a number is 132 smaller than its square, then the number is

https://dl.doubtnut.com/l/_0cxZbDQk6zxj
https://dl.doubtnut.com/l/_rqfsasOhu1B6
https://dl.doubtnut.com/l/_4IrARk9i5UJo


CREATIVE BITS FOR CCE MODEL EXAMINATION

A. 11

B. 8

C. 9

D. 12

Answer: D

Watch Video Solution

1. One of the roots of the Q.E.  is

A. 

B. 

C. 

6x2 − x − 2 = 0

1

3

−
1

3

−
2

3

https://dl.doubtnut.com/l/_4IrARk9i5UJo
https://dl.doubtnut.com/l/_VkbJShgLDoYW


D. 

Answer: B

Watch Video Solution

2

5

2. If the sum of the squares of two consecutive odd numbers is 74,

then the smaller number is

A. 11

B. 3

C. 7

D. 5

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VkbJShgLDoYW
https://dl.doubtnut.com/l/_m8zViFgdnILm


3. The roots of the equation  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x2 + 4√3x + 3 = 0

√3

2

−√3

2

−4

−2

4. The sum of a number and its reciprocal is  ,then the number

is

A. 

B. 5

50

7

1

7

https://dl.doubtnut.com/l/_FyAAemSs5nTr
https://dl.doubtnut.com/l/_jrDPUUCe5guA


C. 

D. 

Answer: A

Watch Video Solution

2

7

3

7

5. The roots of the equation  are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 − 2√6x + 2 = 0

,
2

√3

−2

√3

,
1

√3

−1

√3

√ , √
2

3

2

3

,
1

√3

5

√3

https://dl.doubtnut.com/l/_jrDPUUCe5guA
https://dl.doubtnut.com/l/_KdRq4tD6nrAN


6. 

A. 0

B. 2

C. 1

D. None

Answer: B

Watch Video Solution

Ifx2 − 2x + 1 = 0thenx + =
1

x

7. The roots of the Q.E. 

A. real and distinct

B. real and equal

C. Not real

√3x2 − 2x − √3 = 0are

https://dl.doubtnut.com/l/_f3wZXy2LcKR4
https://dl.doubtnut.com/l/_gfjKPfrdICLp


D. Can't be determined

Answer: A

Watch Video Solution

8. One solution of the Q.E.  is

A. x = 2

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x2 − 5x − 3 = 0

x = − 1

x = − 3

x = 3

https://dl.doubtnut.com/l/_gfjKPfrdICLp
https://dl.doubtnut.com/l/_HTWGbJbhCwAJ


9.  has a root x = 3, then k =

A. 

B. 

C. 

D. 15

Answer: B

Watch Video Solution

If5x2 − kx + 11 = 0

16

3

56

3

−17
3

10. The sum of the roots of the equation 

A. 

B. 

C. 

3x2 − 7x + 11 = 0

11

3

−7
3

7
3

https://dl.doubtnut.com/l/_vlBLsoR54YcT
https://dl.doubtnut.com/l/_4B9xuf1OkRg8


D. 

Answer: C

Watch Video Solution

3

7

11. The positive root of  is

A. 3

B. 5

C. 4

D. 

Answer: B

Watch Video Solution

√3x2 + 6 = 9

2

5

https://dl.doubtnut.com/l/_4B9xuf1OkRg8
https://dl.doubtnut.com/l/_E7XM9XRFx7Vy


12. The value of p for which  has a real root is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x2 − 2px + 7 = 0

p > 2√7

p > √7

p > √5

p > √3

13. The roots of  are

A. Real and equal

B. Real and unequal

C. imaginary

5x2 − x + 1 = 0

https://dl.doubtnut.com/l/_OTyC15HLybmz
https://dl.doubtnut.com/l/_AMP0VKNuCHen


D. None

Answer: C

Watch Video Solution

14. Which of the following Q.E has real and equal roots?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 4x + 4 = 0

2x2 − 4x + 3 = 0

3x2 − 5x + 2 = 0

x2 − 2√2x − 6 = 0

https://dl.doubtnut.com/l/_AMP0VKNuCHen
https://dl.doubtnut.com/l/_IPSBmuYQwEYF


15. The standard form of a Q.E. is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax + b = 0

ax2 + bx + c = 0, a ≠ 0

ax3 + bx2 + cx + d = 0

a2x + b2y2 = c2

16. The roots of the Q.E.

A. 

B. 

C. 

(√5x − 3)(√5x − 3) = 0are

,
3

√5

3

√5

,
−3

√5

−3

√5

,
3

√5

−3

√5

https://dl.doubtnut.com/l/_s9t9DCzCHEKl
https://dl.doubtnut.com/l/_lJ0kTHWQ2t0U


D. 

Answer: A

Watch Video Solution

,
√3

√5

√3

√5

17. The roots of the Q.E.  are

A. 1,3

B. 

C. 

D. 

Answer: C

Watch Video Solution

(7x − 1)(2x + 3) = 0

,
1

7

3

2

,
1

7

−3

2

,
−1

7

−3

2

https://dl.doubtnut.com/l/_lJ0kTHWQ2t0U
https://dl.doubtnut.com/l/_1Vm1e2jL3Iud


18. Which of thr following is a Q.E.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x + 1)2 = 3(x + 7)

(x − 1)(x + 3) = (x − 2)(x + 1)

x2 + 5x − 7 = (x − 4)2

x3 − 9 = 0

19. The roots of the Q.E. 

 are

A. 

B. 

=
9

x2 − 27

25

x2 − 11

±11

±3

https://dl.doubtnut.com/l/_OcbwsFbvkAcK
https://dl.doubtnut.com/l/_xTFGlMJU061K


C. 

D. 

Answer: D

Watch Video Solution

±9

±6

20. The roots of the QE 

 are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3x + 4)2 − 49 = 0

1,
−11

3

,
1

3

11

3

,
−1

3

−11

3

1, − 11

https://dl.doubtnut.com/l/_xTFGlMJU061K
https://dl.doubtnut.com/l/_jzNdHEf59i50


21. The sum of a number and its recip- rocal is  then the number

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5

2

2 or
1

3

3 or
1

2

2 or
1

2

5 and
1

5

22. The roots of the Q.E. 

A. 10,8

(x − )
2

= 9
1

3

https://dl.doubtnut.com/l/_jzNdHEf59i50
https://dl.doubtnut.com/l/_qFxeF2B5SBWk
https://dl.doubtnut.com/l/_AwK2xHCtbUQp


B. 

C. 

D. 

Answer: C

Watch Video Solution

,
−10

3

8

3

,
10

3

−8

3

( − 3, 3)

23. Product of the roots of the Q.E. 

A. 2

B. 

C. 

D. 

Answer: D

3x2 − 6x + 11 = 0is

−11

3

−11

6

11

3

https://dl.doubtnut.com/l/_AwK2xHCtbUQp
https://dl.doubtnut.com/l/_b66W4JC8St5o


Watch Video Solution

24. The Q.E. whose roots are -2,-3 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 5x + 6 = 0

x2 + 5x + 6 = 0

x2 − 5x − 6 = 0

x2 + 5x − 6 = 0

25. If the equation  has equal roots. Then

A. k = 1

x2 − kx + 1 = 0

https://dl.doubtnut.com/l/_b66W4JC8St5o
https://dl.doubtnut.com/l/_HkoRshO2tGas
https://dl.doubtnut.com/l/_oTvTLjhHIe7h


B. k = -1

C. k = 2

D. k = -4

Answer: C

Watch Video Solution

26. If (x - 3)(x + 3) = 16 then the value of x is

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

±4

±3

±6

±5

https://dl.doubtnut.com/l/_oTvTLjhHIe7h
https://dl.doubtnut.com/l/_cj0pQ35pXrFK


Watch Video Solution

27. If the sum of the roots of the Q.E.

 is equal to the product of the

roots, then the value of k is

A. 3

B. 4

C. 2

D. 6

Answer: B

Watch Video Solution

3x2 + (2k + 1)x − (k + 5) = 0

28. The Q.E. whose one root is  is2 − √3

https://dl.doubtnut.com/l/_cj0pQ35pXrFK
https://dl.doubtnut.com/l/_09dA2WL9WgUQ
https://dl.doubtnut.com/l/_GvCWnDEYUe5L


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 4x + 1 = 0

x2 + 4x − 1 = 0

x2 − 4x − 1 = 0

x2 − 2x − 3 = 0

29. Form a quadratic equation whose roots are k and 

A. 

B. 

C. 

D. 

1

k

x2 + (k + )x + 1 = 0
1

k

xk2 − kx + 1 = 0

x2 − (k + k)x + 1 = 0

x2 − (k + )x + 1 = 0
1

k

https://dl.doubtnut.com/l/_GvCWnDEYUe5L
https://dl.doubtnut.com/l/_yPBoUd2hRFwP


Answer: D

Watch Video Solution

30. The roots of a quadratic equation  are

A. 

B. p, 2p

C. 

D. 

Answer: A

Watch Video Solution

=
x

p

p

x

±p

−p, 2p

−p, − 2p

https://dl.doubtnut.com/l/_yPBoUd2hRFwP
https://dl.doubtnut.com/l/_TL4v18yfkpor


31. The roots of a quadratic equation 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + bx + c = 0is

−b + √b2 − 4ac
ac

−b − √b2 − 4
3

−b − √b − 4ac

2

−b ± √b2 − 4ac
2a

32. The product of the roots of the quadratic equation

A. 

√2x2 − 3x + 5√2 = 0

−5

3

https://dl.doubtnut.com/l/_DEV84fNOa3P1
https://dl.doubtnut.com/l/_VG9xbBRjsqLo


B. 

C. 5

D. 3

Answer: C

Watch Video Solution

√2

33. In the above problem sum of the roots is…

A. 

B. 

C. 3

D. 5

Answer: A

Vi T t S l ti

3

√2

−
3

√2

https://dl.doubtnut.com/l/_VG9xbBRjsqLo
https://dl.doubtnut.com/l/_9zQJZdHPx8p7


View Text Solution

34. The sum of the roots of the quadratic equation

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5x2 + 4√3x − 11 = 0

−11

5

11

4

−4
3

√3
−4
5

35. The product of zeroes in the above equation is….

A. 
5

−11

https://dl.doubtnut.com/l/_9zQJZdHPx8p7
https://dl.doubtnut.com/l/_7eMG0vVlzJzh
https://dl.doubtnut.com/l/_fj9PszRyL7cu


B. 

C. 

D. 

Answer: C

View Text Solution

11

5

−11

5

1

5

36. The quadratic equation whose roots are -3 and -4 is …

A. 

B. 

C. 

D. none

Answer: B

W t h Vid S l ti

7x2 + x + 1 = 0

x2 + 7x + 12 = 0

x2 − 3x + 1 = 0

https://dl.doubtnut.com/l/_fj9PszRyL7cu
https://dl.doubtnut.com/l/_oH6rh8p9cKun


Watch Video Solution

37. If one root of a quadratic equation is  then the

quadratic equation is ….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7 − √3

x2 − 7x + 3 = 0

x2 − 4x + 6 = 0

x2 − 7x + 1 = 0

x2 − 14x + 46 = 0

38. The nature of the roots of a quadratic equation

 is…..4x2 + 5x + 1 = 0

https://dl.doubtnut.com/l/_oH6rh8p9cKun
https://dl.doubtnut.com/l/_k3kVwVB0DjMr
https://dl.doubtnut.com/l/_FQaObVhYibaQ


A. real and distinct

B. real and equal

C. imaginary

D. none

Answer: A

Watch Video Solution

39. The nature of the roots of quadratic equation

 is…

A. real and distinct

B. real and equal

C. imaginary

D. none

3x2 + x + 8 = 0

https://dl.doubtnut.com/l/_FQaObVhYibaQ
https://dl.doubtnut.com/l/_YCB7kjbuUu6d


Answer: C

Watch Video Solution

40. The nature of the roots of a quadratic equation

 is….

A. Real and equal

B. real and distinct

C. imaginary

D. none

Answer: A

Watch Video Solution

4x2 − 12x + 9 = 0

https://dl.doubtnut.com/l/_YCB7kjbuUu6d
https://dl.doubtnut.com/l/_kpbt7BxiY62X


41. The roots of a quadratic equation 

are…..

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(√2x + 3)(5x − √3) = 0

,
1

3

1

√2

,
1

2

3

√5

,
−3

√2

1

5

,
−3

√2

√3

5

42. The roots of the quadratic equation  are…

A. 

B. 

=
x2 − 8

x2 + 20

1

2

±2

±6

https://dl.doubtnut.com/l/_nEOXZXtr4tD6
https://dl.doubtnut.com/l/_DR2PgkISqDNj


C. 

D. 

Answer: B

Watch Video Solution

±13

±7

43. The discriminant of  is…

A. 49

B. 89

C. 20

D. none

Answer: A

Watch Video Solution

5x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_DR2PgkISqDNj
https://dl.doubtnut.com/l/_0JXjLRQzaean


44.  then the roots of the quadratic equation are…

A. distinct

B. equal

C. imaginary

D. none

Answer: C

Watch Video Solution

Ifb2 − 4ac < 0

45.  then the roots of the quadratic equation are…

A. real and distinct

B. real and equal

C. imaginary

Ifb2 − 4ac = 0

https://dl.doubtnut.com/l/_rUJfeu30lxMo
https://dl.doubtnut.com/l/_Hrbp7glM1Wqp


D. none

Answer: B

Watch Video Solution

46.  then the roots of the quadratic equation are…

A. real and distinct

B. real and equal

C. imaginary

D. none

Answer: A

Watch Video Solution

Ifb2 − 4ac > 0

https://dl.doubtnut.com/l/_Hrbp7glM1Wqp
https://dl.doubtnut.com/l/_gjZ3EiF1Kbcp


47. If the roots of a quadratic equation  are real

and equal then  =…

A. 4ab

B. 4ac

C. 

D. 

Answer: B

Watch Video Solution

ax2 + bx + c = 0

b2

a
c

4

a2c2

48. Find the nature of the roots of 

A. Real and equal

B. imaginary

4x2 − 20x + 25 = 0

https://dl.doubtnut.com/l/_GF0VUcDwjYDB
https://dl.doubtnut.com/l/_EFlHnd8XfLEN


C. real and distinct

D. none

Answer: A

Watch Video Solution

49. The nature of roots of 

A. real and distinct

B. real and equal

C. complex

D. none

Answer: A

Watch Video Solution

3x2 + 6x − 2 = 0is....

https://dl.doubtnut.com/l/_EFlHnd8XfLEN
https://dl.doubtnut.com/l/_4J53rN7JUHMT


50. The roots of  are…

A. real

B. not real

C. real and equal

D. none

Answer: B

Watch Video Solution

7x2 + 3x + 8 = 0

51. Sum of the roots of  is..

A. 

B. 

C. 

ax2 + bx + c = 0

c

a

b

a

a

b

https://dl.doubtnut.com/l/_gJ1D8d56Nrer
https://dl.doubtnut.com/l/_UhfWAPVN0fMX


D. none

Answer: D

Watch Video Solution

52. Product of the roots of  is…

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

ax2 + bx + c = 0

c

a

−b

a

−c

a

https://dl.doubtnut.com/l/_UhfWAPVN0fMX
https://dl.doubtnut.com/l/_sN5wGtJoBgaN


53.  has real roots if …

A. 

B. 

C. k = 6

D. k = 0

Answer: B

Watch Video Solution

3x2 + ( − kx) + 8 = 0

k < 4√6

k > 4√6

54.  has no real roots if…..

A. 

B. k = 10

C. 

4x2 + kx − 2 = 0

k > − √32

k < − √32

https://dl.doubtnut.com/l/_f4GxIBmvP3Go
https://dl.doubtnut.com/l/_IX0KJ05uuecP


D. none

Answer: C

Watch Video Solution

55. The quadratic equation whose roots are 2,3 is…

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 5x + 1 = 0

x2 − 5x − 6 = 0

x2 − 3x + 1 = 0

x2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_IX0KJ05uuecP
https://dl.doubtnut.com/l/_N41Dby7umF66


56. The quadratic equation whose roots are -2 and -3 is…

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x2 + 6x + 1 = 0

x2 + 5x + 6 = 0

x2 − 5x + 1 = 0

57. If  has equal roots then ….

A. 

B. 

C. 

x2 − 8kx + 16 = 0

k = ± √2

k = ± 7

k = ± 1

https://dl.doubtnut.com/l/_KZ82ASBzWFUv
https://dl.doubtnut.com/l/_sYGbQONbSvYN


D. none

Answer: C

Watch Video Solution

58. 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

− = . .
x

x − y

y

x + y

x2 + y2

x2 − y2

x2 + y2

x + y

x2y2

x + y

https://dl.doubtnut.com/l/_sYGbQONbSvYN
https://dl.doubtnut.com/l/_7iVAQeWvWisr


59. 

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

+ + = . .
2a2 + a − 1

a + 1

3a2 + 5a + 2

3a + 2

4 − a2

a + 2

+ 2
a

2

a + 1

2

2(a + 1)

60. 

A. 

B. 

C. 

+ + = . .
1

a + 3

1

a − 3

6

9 − a2

1

a + 3

3

a + 2

2

a + 1

https://dl.doubtnut.com/l/_SklMe3Ua9pBT
https://dl.doubtnut.com/l/_oF0PUxjxQOoD


D. 

Answer: D

Watch Video Solution

2

a + 3

61. 

A. 1

B. 

C. x

D. 0

Answer: C

Watch Video Solution

= . .
1 − 1

1 +x

1
1 +x

x2

https://dl.doubtnut.com/l/_oF0PUxjxQOoD
https://dl.doubtnut.com/l/_9oHlqoeVoRlW
https://dl.doubtnut.com/l/_8QtPBKbWiQ9l


62. =…...

A. 0

B. 1

C. xy

D. 

Answer: A

Watch Video Solution

(x + )
2

− (y + )
2

− (xy − ). ( − )
1

x

1

y

1

xy

x

y

y

x

1

xy

63. Sum of the roots of  is

A. 

B. 

C. 

bx2 + ax + c = 0

−b

2

c

a

a

b

https://dl.doubtnut.com/l/_8QtPBKbWiQ9l
https://dl.doubtnut.com/l/_j5Q82N5749AP


D. 

Answer: D

Watch Video Solution

−a

b

64. 

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

(x − α)(x − β) = 0then

x2 − (α)x + β = 0

x2 − (α + β)x + αβ = 0

αx2 − xβ + αβ = 0

https://dl.doubtnut.com/l/_j5Q82N5749AP
https://dl.doubtnut.com/l/_J0ojRpexktjp


65. Sum of the roots of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−7x + 3x2 − 1 = 0

3

4

1

7

7
3

1

2

66. Product of the roots of  is..

A. 

B. 7

C. 0

1 = x2

−1

https://dl.doubtnut.com/l/_fNr7vGgrmQTr
https://dl.doubtnut.com/l/_9qi9JglO1kCd


D. 1

Answer: A

Watch Video Solution

67. The nature of roots of 

A. real and uneual

B. real and equal

C. complex

D. none

Answer: A

Watch Video Solution

3x2 + 13x − 2 = 0

https://dl.doubtnut.com/l/_9qi9JglO1kCd
https://dl.doubtnut.com/l/_6oSntHscJBeg


68. 

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

If(2x − 1)(2x + 3) = 0thenx. .

or
1

2

−1

2

or
1

2

−3

2

or
1

2

2

3

69. The roots of  are…

A. real

B. not real

C. complex

(x − a)(x − b) = b2

https://dl.doubtnut.com/l/_lmT5Wp4K5GBV
https://dl.doubtnut.com/l/_mjwS9WUUpCeq


D. none

Answer: A

Watch Video Solution

70. Product of the roots of is…

A. 1

B. 

C. 

D. 0

Answer: D

Watch Video Solution

x2 + 7x = 0

−7

−3

https://dl.doubtnut.com/l/_mjwS9WUUpCeq
https://dl.doubtnut.com/l/_MKmoWGDfPypT


71. For what values of m are the roots of the equation

 are equal?

A. 1 or 5

B. 

C. 

D. 

Answer: D

Watch Video Solution

mx2 + (m + 3)x + 4 = 0

−1 or 2

8 or 1

9 or 1

72.  are the roots of the quadratic equation 

A. 

Ifα and β

2x2 + 3x − 7 = 0then =
α2 + β2

αβ

−37
16

https://dl.doubtnut.com/l/_un2VXwdJePEw
https://dl.doubtnut.com/l/_UBuf7XeidZMF


B. 

C. 

D. 

Answer: C

Watch Video Solution

−37
4

−37
14

37
8

73.  are the roots of 

A. 1

B. 4

C. 8

D. none

Answer: D

W t h Vid S l ti

Ifα and β x2 − 2x + 3 = 0thenα2β2 =

https://dl.doubtnut.com/l/_UBuf7XeidZMF
https://dl.doubtnut.com/l/_qNyppUdfj6m7


Watch Video Solution

74. In the above problem, 

A. (-3)

B. 8

C. 6

D. none

Answer: C

View Text Solution

α2β + β2α =

75. In Q.No. 73, the value of 

A. (-10)

B. 10

α3 + β3 =

https://dl.doubtnut.com/l/_qNyppUdfj6m7
https://dl.doubtnut.com/l/_WqSeTDoQ1Dtd
https://dl.doubtnut.com/l/_1wCc9p6fjkD0


C. 8

D. 12

Answer: A

View Text Solution

76. 

A. 8

B. (-1)

C. 12

D. 0

Answer: B

Watch Video Solution

Ifα and βare the roots ofx2 + x + 1 = 0thenα2 + β2 =

https://dl.doubtnut.com/l/_1wCc9p6fjkD0
https://dl.doubtnut.com/l/_uaZFMjJB4HN0


77. 

A. 

B. 

C. (-3)

D. none

Answer: A

Watch Video Solution

Ifα and βare the roots ofx2 − 5x + 6 = 0then the value ofα − β =

±1

±2

78. In the quadratic equation 

A. 7

B. 0

x2 + x − 2 = 0, a + b + c =

https://dl.doubtnut.com/l/_pPvxEdniPIX7
https://dl.doubtnut.com/l/_a1KixEjf8t1t


C. 8

D. 1

Answer: B

Watch Video Solution

79. The degreee of any quadratic equation is..

A. 4

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_a1KixEjf8t1t
https://dl.doubtnut.com/l/_glp5kOmQuPlY


80. Check whether the following are quadratic equations: 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

x(2x + 3) = x2 + 1

x2 + 3x − 1 = 0

x2 − 3x − 2 = 0

x2 + x + 1 = 0

81. Form a quadratic equation from

A. 

x3 − 4x2 − x + 1 = (x − 2)3 =

2x2 − x + 1 = 0

https://dl.doubtnut.com/l/_dT7GypIGqmIT
https://dl.doubtnut.com/l/_wYFLbZ0zUCIO


B. 

C. 

D. none

Answer: B

Watch Video Solution

2x2 − 13x + 9 = 0

x2 + x + 1 = 0

82. 

A. 8

B. 0

C. 4

D. 2

Answer: D

W t h Vid S l ti

If x + = 2  then x2 + = . .
1

x

1

x2

https://dl.doubtnut.com/l/_wYFLbZ0zUCIO
https://dl.doubtnut.com/l/_0LQ4SbAAAGbL


Watch Video Solution

83. The product of two consecutive positive integers is 306. We

need to find the integers.

A. 12

B. 16

C. 18

D. 10

Answer: C

Watch Video Solution

84. In the above problem, smallest number is…

A. 16

https://dl.doubtnut.com/l/_0LQ4SbAAAGbL
https://dl.doubtnut.com/l/_za7KKJkrOaAm
https://dl.doubtnut.com/l/_Z5N0tdOC2x5k


B. 13

C. 19

D. 17

Answer: D

View Text Solution

85.  are the roots of…

A. 

B. 

C. 

D. all

Answer: A

W t h Vid S l ti

1 and
3

2

2x2 − 5x + 3 = 0

x2 − 5x + 1 = 0

2x2 − x + 3 = 0

https://dl.doubtnut.com/l/_Z5N0tdOC2x5k
https://dl.doubtnut.com/l/_YL1ToXNxFRhE


Watch Video Solution

86. Find the roots of the following quadratic equations by

factorisation 

A. 

B. 

C. 

D. all

Answer: B

Watch Video Solution

√2x2 + 7x + 5√2 = 0

or 7
−5

√2

or − √2
−5

√2

−√2 or
5

√3

87. The roots of  are…2x2 − x + = 0
1

8

https://dl.doubtnut.com/l/_YL1ToXNxFRhE
https://dl.doubtnut.com/l/_mYv2XMUbcM2B
https://dl.doubtnut.com/l/_8Ek0RvG6DYUZ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

,
1

4

1

2

,
1

3

1

7

,
1

2

1

8

,
1

4

1

4

88.  then x =..

A. 

B. 6 or 2

C. 

D. none

x(x + 4) = 12

−6 or 2

8 or − 9

https://dl.doubtnut.com/l/_8Ek0RvG6DYUZ
https://dl.doubtnut.com/l/_Z11XP9f2szdL


Answer: A

Watch Video Solution

89.  then x =..

A. 12,17

B. 

C. 8,11

D. 12,16

Answer: B

Watch Video Solution

x2 − 7x − 60 = 0

12, − 5

https://dl.doubtnut.com/l/_Z11XP9f2szdL
https://dl.doubtnut.com/l/_0S9NNTBSsMjC


90. Find the roots of the following quadratic equations by

factorisation 

A. 

B. 

C. 3,4

D. 

Answer: D

Watch Video Solution

3(x − 4)2 − 5(x − 4) = 12

6
−1

17

8,
−1

2

3,
−4
3

91. 9 and 1 are the roots of….

A. x2 − 10x + 9 = 0

https://dl.doubtnut.com/l/_yvyy3IXPhzDU
https://dl.doubtnut.com/l/_ZpfHWHNMNORm


B. 

C. 

D. none

Answer: A

Watch Video Solution

x2 − x + 1 = 0

x2 + 3x + 4 = 0

92. On solving  we get x =

A. 

B. 

C. 

D. none

Answer: B

W t h Vid S l ti

x2 + 5 = − 6x

5 or − 2

−1 or − 5

−3 or − 7

https://dl.doubtnut.com/l/_ZpfHWHNMNORm
https://dl.doubtnut.com/l/_1rVmi7Zyg6pS


Watch Video Solution

93. The equation  has…

A. no real roots

B. real roots

C. equal roots

D. none

Answer: A

Watch Video Solution

5x2 + 2x + 8 = 0

94. The discriminant of  is

A. 1

B. 

3x2 − 2x =
−1

3

−
1

3

https://dl.doubtnut.com/l/_1rVmi7Zyg6pS
https://dl.doubtnut.com/l/_QUUyX9wDcK4V
https://dl.doubtnut.com/l/_SZhgJRoZN3pM


C. 8

D. 0

Answer: D

Watch Video Solution

95. Discriminant of the quadratic equation  is..

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

px2 + qx + r = 0

q2 − pr

q − 4pr

q2 − 4pr

https://dl.doubtnut.com/l/_SZhgJRoZN3pM
https://dl.doubtnut.com/l/_oRgJenAeNezy


96. Number of distinct line segments that can be formed out of n-

points is…

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

n(n − 1)

2

n

2

n + 1

2

n2(n − 1)

2

97.  has equal roots then k =

A. 3

B. 

Ifkx(x − 2) + 6 = 0

−6

https://dl.doubtnut.com/l/_8vOHRQdFEJpA
https://dl.doubtnut.com/l/_LBg8DVPH0YeN


C. 7

D. 6

Answer: D

Watch Video Solution

98. Which of the following is a quadratic equation ?

A. 

B. 

C. 

D. all

Answer: C

Watch Video Solution

x2 − 3x + 1

8x3 + 7x2 + 1

x2 − x + 1 = 0

https://dl.doubtnut.com/l/_LBg8DVPH0YeN
https://dl.doubtnut.com/l/_pmb20cHwua40


99. If  is a root of  then ….

A. 

B. 0

C. 8

D. 1

Answer: B

Watch Video Solution

α ax2 + bx + c = 0 aα2 + bα + c =

−c

100. Diagonal of rectangle is ………. units.

A. 

B. 

C. 

√l + b2

√l + b

√lb

https://dl.doubtnut.com/l/_IRm87LZwLvu2
https://dl.doubtnut.com/l/_p5xzZwRb40aZ


D. 

Answer: D

Watch Video Solution

√l2 + b2

101. =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(α + β)2 − 2αβ

α2 + β2 + 1

α + β2

α2 + β2

αβ

https://dl.doubtnut.com/l/_p5xzZwRb40aZ
https://dl.doubtnut.com/l/_AnZoqDmxO7pe


102. From the figure, x=… 

A. 7

B. 3

C. 10

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_mzE71veFWyrX
https://dl.doubtnut.com/l/_Gz2AD4LBu0tY


103. Discriminant of the quadratic equation  is…

A. 

B. 9

C. 6

D. 5

Answer: D

Watch Video Solution

x + = 3
1

x

−10

104. 

A. 

B. 

C. 

Ifα, βare the roots ofx2 − px + q = 0thenα3 + β3 =

p + q3

p − 3p3q

p3 − 3pq

https://dl.doubtnut.com/l/_Gz2AD4LBu0tY
https://dl.doubtnut.com/l/_eohCqlyRFHJW


D. 

Answer: C

Watch Video Solution

p2 − 3pq

105. If one root of  is 5 then p =

A. 8

B. 7

C. 

D. none

Answer: A

Watch Video Solution

x2 − (p − 1)x + 10 = 0

−3

https://dl.doubtnut.com/l/_eohCqlyRFHJW
https://dl.doubtnut.com/l/_k3uDI7ICUZ9d


106. The coefficient of x in a pure quadratic equation is…

A. 2

B. 0

C. 8

D. none

Answer: B

Watch Video Solution

107.  then x =..

A. 

B. 

C. 

=
x

a − b

a

x − b

b − a or
a

2

b − a or − a

b + a or − a

https://dl.doubtnut.com/l/_LBlAnnqxKypd
https://dl.doubtnut.com/l/_gZKQGB1BDdDM


D. all

Answer: B

Watch Video Solution

108. 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

P (x) = x2 + 2x + 1thenP(x2) =

x4 + 2x2 + 1

x4 + 2x + 1

x30 + 2x+ 1

https://dl.doubtnut.com/l/_gZKQGB1BDdDM
https://dl.doubtnut.com/l/_BbC44iFqc3zQ


109. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1 − 5x)(x + 1) =

3x2 + 1 + X

8X2 = 5x + 1

1 − 4x + 5x2

1 − 4x − 5x2

110. If the sum of the roots of  then k = …

A. 

B. 

C. 

kx2 − 3x + 1 = 0is
−4
3

−4
9

9

5

−9

4

https://dl.doubtnut.com/l/_qN20AUnpNLqK
https://dl.doubtnut.com/l/_0U6AyC66qizG


D. none

Answer: C

Watch Video Solution

111.  then k = …

A. 24

B. 16

C. 19

D. none

Answer: D

Watch Video Solution

√k + 1 = 3

https://dl.doubtnut.com/l/_0U6AyC66qizG
https://dl.doubtnut.com/l/_6LX1AB0L4jsP


112. If 2 is a root of  then r = …

A. 

B. 

C. 16

D. 8

Answer: B

Watch Video Solution

x2 + 5x + r = 0

−4

−14

113. The roots of  are…

A. 2 or -2

B. 

C. 

x =
1

x

2 or
1

2

1 or − 1

https://dl.doubtnut.com/l/_vmFWWfZ0Zeyy
https://dl.doubtnut.com/l/_RfHLxfpSgJOm


D. all

Answer: C

Watch Video Solution

114. If  are the roots of the quadratic equation 

A. 7

B. 8

C. -3

D. none

Answer: A

Watch Video Solution

α and β

x2 − 3x + 1 = 0then +
1

α2

1

β2

https://dl.doubtnut.com/l/_RfHLxfpSgJOm
https://dl.doubtnut.com/l/_WNsVaU3i8cMz


115. "If " ax^2 - 4x + 3 = 1 "then" x = ....and a= ...

A. -1 or -2

B. 2 or 7

C. 

D. 

Answer: A

Watch Video Solution

8 or
1

2

2 or − 3

116.  then other root is….

A. 8

B. 

C. 

if is a root of6x2 − 13x − 63 = 0
−7
3

1

3

2

9

https://dl.doubtnut.com/l/_MiYEuAw2BwHb
https://dl.doubtnut.com/l/_5fiiNpCVYBMb


D. 

Answer: D

Watch Video Solution

9

2

117. 

A. 1

B. 4

C. 2

D. none

Answer: A

Watch Video Solution

√x = √2x − 1thenx = ...

https://dl.doubtnut.com/l/_5fiiNpCVYBMb
https://dl.doubtnut.com/l/_pRTaUDLv4Q7X


118.  then n = …

A. 13

B. 16

C. 10

D. 12

Answer: C

Watch Video Solution

= 55
n(n + 1)

2

119. 

A. 

B. a

C. 

√a√a√a...∞ = ...

a1 / 2

a3

https://dl.doubtnut.com/l/_ItYAHvoW26v6
https://dl.doubtnut.com/l/_iEDs2gQjT7oq


D. 

Answer: B

Watch Video Solution

a/2

120. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√a + √a + √a + ......∞ = ....... .

1 + √1 + 4a

2

1 − √4a − 2

3

1 + √2

2

1 − √4a − 2

3

https://dl.doubtnut.com/l/_iEDs2gQjT7oq
https://dl.doubtnut.com/l/_s4diljAwqI3b
https://dl.doubtnut.com/l/_rExtw1YroRsH


121. The quadratic inequation with  is…

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

2 < x < 3

x2 + 6x + 5 < 0

x2 − 5x + 6 > 0

x2 − 5x + 6 < 0

122. IF one root of  is square that of the other,

then k=………

A. 2

B. 3

C. 

x2 − x − k = 0

−4

https://dl.doubtnut.com/l/_rExtw1YroRsH
https://dl.doubtnut.com/l/_VARsL1SaxLZ5


D. none

Answer: D

Watch Video Solution

123.  then x = ..

A. 

B. 

C. 

D. all

Answer: C

Watch Video Solution

x2 + (x + 2)2 = 290

9 or − 13

8 or − 12

11 or − 13

https://dl.doubtnut.com/l/_VARsL1SaxLZ5
https://dl.doubtnut.com/l/_L2QI3t7Mvr1t


124.  then x = ….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

If + =
1

x − 2

2

x − 1

6

x

3 or
4
3

3 or
−1

3

1 or
2

3

8 or
7
2

125. A pentagon has… diagonals.

A. 6

B. 7

C. 9

https://dl.doubtnut.com/l/_7G9flK5gJMUW
https://dl.doubtnut.com/l/_KBEk98LhKK65


D. none

Answer: D

Watch Video Solution

126. 

A. 

B. 2 or 1

C. 

D. 

Answer: B

Watch Video Solution

− = , x ≠ − 4, 7
1

x + 4

1

x − 7

11

30

−2 or 1

−1 or 3

7 or
1

2

https://dl.doubtnut.com/l/_KBEk98LhKK65
https://dl.doubtnut.com/l/_9GycZbLEMhMe


127. The roots of  are…

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

2x2 + x − 4 = 0

−1 ± √33

4

−1 ± √31

2

−1 ± √29

2

128. Sum of the roots of a pure quadratic equation is..

A. 

B. 12

C. 

−13

−9

https://dl.doubtnut.com/l/_5eo8qDs5PTAF
https://dl.doubtnut.com/l/_JQUjIUvCduFt


D. 0

Answer: D

Watch Video Solution

129.  then y =

A. 12

B. 6

C. 8

D. none

Answer: C

Watch Video Solution

If3y2 = 192

https://dl.doubtnut.com/l/_JQUjIUvCduFt
https://dl.doubtnut.com/l/_jxH81NAtUNRx


EXERCISE

130. If  then shape of graph is….

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

b2 < 4ac

https://dl.doubtnut.com/l/_kyzP2xRWkX3h
https://dl.doubtnut.com/l/_L75QnUvPVXys


1. Check whether the following equations are quadratic or not. 

Watch Video Solution

x2 − 6x − 4 = 0

2. Check whether the following equations are quadratic or not. 

Watch Video Solution

x3 − 6x2 + 2x − 1 = 0

3. Check whether the following equations are quadratic or not. 

Watch Video Solution

7x = 2x2

https://dl.doubtnut.com/l/_L75QnUvPVXys
https://dl.doubtnut.com/l/_xipzEN1SEDXZ
https://dl.doubtnut.com/l/_7afEysVf7SQS


4. Check whether the following equations are quadratic or not. 

Watch Video Solution

x2 + = 2
1

x2

5. Check whether the following equations are quadratic or not. 

Watch Video Solution

(2x + 1)(3x + 1) = 6(x − 1)(x − 2)

6. Check whether the following equations are quadratic or not. 

Watch Video Solution

3y2 = 192

https://dl.doubtnut.com/l/_9y91rsB3oXEz
https://dl.doubtnut.com/l/_etyTOx1vj19E
https://dl.doubtnut.com/l/_rgekzpv03hi8


7. Represent the following situations mathematically : 

Raju and Rajender together have 45 marbles. Both of then lost 5

marbles each. And the product of the number of marbles now they

have is 124.

Watch Video Solution

8. Represent the following situations with suitable mathematical

equations. 

The hypotenuse of a right triangle is 25 cm. We know that the

difference in lengths of the other two sides is 5 cm. We would like

to find out the length of the two sides?

Watch Video Solution

https://dl.doubtnut.com/l/_W5xzpknPszri
https://dl.doubtnut.com/l/_97saMfcsYYBW


9. Check whether the following are quadratic equations: 

Watch Video Solution

(x − 2)2 + 1 = 2x − 3

10. Check whether the following are quadratic equation: 

Watch Video Solution

x(x + 1) + 8 = (x + 2)(x − 2)

11. Check whether the following are quadratic equation: 

Watch Video Solution

x(2x + 3) = x2 + 1

https://dl.doubtnut.com/l/_v1YWmS0QliIJ
https://dl.doubtnut.com/l/_b6scTslLq0sq
https://dl.doubtnut.com/l/_hys9LgLjtlou


12. Check whether the following are quadratic equation:

Watch Video Solution

(x + 2)3 = x3 − 4

13. Check whether the following are quadratic equations: 

Watch Video Solution

(x + 1)2 = 2(x − 3)

14. Chek whether the following are quadratic equation: 

Watch Video Solution

x2 − 2x = ( − 2)(3 − x)

https://dl.doubtnut.com/l/_idsJCC4VSDnV
https://dl.doubtnut.com/l/_lm7YNII5Rutf
https://dl.doubtnut.com/l/_6GWNf1K1hd7t


15. Chek whether the following are quadratic equation: 

Watch Video Solution

(x − 2)(x + 1) = (x − 1)(x + 3)

16. Chek whether the following are quadratic equation: 

Watch Video Solution

(x − 3)(2x + 1) = x(x + 5)

17. Chek whether the following are quadratic equation: 

Watch Video Solution

(2x − 1)(x − 3) = (x + 5)(x − 1)

https://dl.doubtnut.com/l/_zBYsMUWZYaWf
https://dl.doubtnut.com/l/_QWOvySq1zqJm
https://dl.doubtnut.com/l/_WfDQ6kJseO6v


18. Chek whether the following are quadratic equation: 

Watch Video Solution

x2 + 3x + 1 = (x − 2)2

19. Chek whether the following are quadratic equation: 

Watch Video Solution

(x + 2)3 = 2x(x2 − 1)

20. Chek whether the following are quadratic equation: 

Watch Video Solution

x3 − 4x2 − x + 1 = (x − 2)3

https://dl.doubtnut.com/l/_cAZoA1eVw46J
https://dl.doubtnut.com/l/_C6R5HVkOFZz6
https://dl.doubtnut.com/l/_qbhdK0VONuer


21. Represent the following situations in the form of quadratic

equation: 

The area of a rectangular plot is 528 . The length of the plot is

one metre more than twice its breadth. We need to find the length

and breadth of the plot.

Watch Video Solution

m2

22. The product of two consecutive positive integers is 306. We

need to find the integers.

Watch Video Solution

23. Represent the following situations in the form of quadratic

equation: 

Rohan’s mother is 26 years older than him. The product of their

https://dl.doubtnut.com/l/_hnTig3zJ22Ug
https://dl.doubtnut.com/l/_Q2dkOeuadx16
https://dl.doubtnut.com/l/_P9ySoEMRTu0y


ages after 3 years will be 360 years. We need to find Rohan’s

present age

Watch Video Solution

24. A train travels a distance of 480 km at a uniform speed. If the

speed had been 8km/h less, then it would have taken 3 hours more

to cover the same distance. We need to find the speed of the train.

Watch Video Solution

25. Find the roots of the equation using factorisation method. 

Watch Video Solution

x2 + 5x + 6 = 0

https://dl.doubtnut.com/l/_P9ySoEMRTu0y
https://dl.doubtnut.com/l/_KoqCsjUzdY7P
https://dl.doubtnut.com/l/_J2uvOa2HHzZg


26. Find the roots of the equation using factorisation method. 

Watch Video Solution

x2 − 5x + 6 = 0

27. Find the roots of the equation using factorisation method. 

Watch Video Solution

x2 + 5x − 6 = 0

28. Find the roots of the equation using factorisation method. 

Watch Video Solution

x2 − 5x − 6 = 0

https://dl.doubtnut.com/l/_UwZPxZ5NxOtz
https://dl.doubtnut.com/l/_bYTLSomyeTud
https://dl.doubtnut.com/l/_ZNxNs5FHySgV


29. Verify that 1 and  are the roots of the equation 

Watch Video Solution

3

2

2x2 − 5x + 3 = 0.

30. Find the roots of the equation  by

factorisation.

Watch Video Solution

2x2 − 5x + 3 = 0

31. Find the roots of the quadratic equation 

Watch Video Solution

x − =
1

3x

1

6

32. The altitude of a right triangle is 7 cm less than its base. If the

hypotenuse is 13 cm, find the other two sides.

https://dl.doubtnut.com/l/_gO34fXIokZO6
https://dl.doubtnut.com/l/_qdOuDhFTsrRC
https://dl.doubtnut.com/l/_tt1gjQPOo1yg
https://dl.doubtnut.com/l/_rJpDe873wEps


Watch Video Solution

33. A cottage industry produces a certain number of pottery

articles in a day. It was observed on a particular day that the cost

of production of each article (in rupees) was 3 more than twice the

number of articles produced on that day. If the total cost of

production on that day was Rs. 90, find the number of articles

produced and the cost of each article.

Watch Video Solution

34. Find the dimensions of a rectangle whose perimeter is 28

meters. And whose area is 40 square meters.

Watch Video Solution

https://dl.doubtnut.com/l/_rJpDe873wEps
https://dl.doubtnut.com/l/_YzIvWJa0KoJG
https://dl.doubtnut.com/l/_Ie3sWBQ6lcc7


35. The base of a triangle is 4cm longer than its altitude. If the

area of the triangle is 48 sq.cm, then find its base and altitude.

Watch Video Solution

36. Two trains leave a railway station at the same time. The first

train travels towards west and the second train towards north.

The first train travels 5 km/hr faster then the second train. If after

two hours they are 50 km. apart, find the average speed of each

train.

Watch Video Solution

37. In a class of 60 students, each boy contributed rupees equal to

the number of girls and each girl contributed rupees equal to the

https://dl.doubtnut.com/l/_8bElMHbw1hal
https://dl.doubtnut.com/l/_kyixjH5qQuTI
https://dl.doubtnut.com/l/_KeX5PIJj8nrW


number of boys. If the total money then collected was Rs. 1600,

how many boys are there in the class?

Watch Video Solution

38. A motor boat heads upstream a distance of 24km on a river

whose current is running at 3km per hours. Assuming that the

motor boat maintained a constant speed, what was its speed ?

Watch Video Solution

39. Solve the equations by completing the square. 

Watch Video Solution

x2 − 10x + 9 = 0

https://dl.doubtnut.com/l/_KeX5PIJj8nrW
https://dl.doubtnut.com/l/_oZBD58MCvEGv
https://dl.doubtnut.com/l/_EjFkqEUMWPrN


40. Solve the equations by completing the square 

Watch Video Solution

x2 − 5x + 5 = 0

41. Solve the equations by completing the square 

Watch Video Solution

x2 + 7x − 6 = 0

42. If one can induce parthenocarpy through the application of

growth substances, which fruits would you select to induce

parthenocarpy and why?

Watch Video Solution

https://dl.doubtnut.com/l/_gQtUySHjehky
https://dl.doubtnut.com/l/_NX3dEzPMbr4l
https://dl.doubtnut.com/l/_y57YRPSWAwmk


43. Find the roots of the equation  by the

method of completing the square.

Watch Video Solution

5x2 − 6x − 2 = 0

44. Find the roots of  by the method of

completing the square.

Watch Video Solution

4x2 + 3x + 5 = 0

45. The two consecutive positive odd integers such that the sum

of their squares is 290 are

Watch Video Solution

https://dl.doubtnut.com/l/_qjIinTh7CSLP
https://dl.doubtnut.com/l/_YVB5wcMZWgEU
https://dl.doubtnut.com/l/_bRe2h0ZP1KGr


46. A rectangular park is to be designed whose breadth is 3 m less

than its length. Its area is to be 4 square metres more than area of

a park that has already been made in the shape of an isosceles

triangle with its base as the breadth of the reatangular park and

of altitude 12m. Find its length and breadth.

Watch Video Solution

47. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

x2 + 4x + 5 = 0

48. Find the roots of the following quadratic equations, if they

exist. 

https://dl.doubtnut.com/l/_TepYYGv4RpkS
https://dl.doubtnut.com/l/_NqxVq27ZiHYE
https://dl.doubtnut.com/l/_4626nzTTY9Qz


Watch Video Solution

2x2 − 2√2x + 1 = 0

49. Find the roots of the following equations: 

Watch Video Solution

x + = 3, x ≠ 0
1

x

50. Find the roots of the following equations: 

Watch Video Solution

− = 3, x ≠ 0, 2
1

x

1

x − 2

51. A motor boat whose speed is 18km/h in still water. It takes 1

hour more to go 24km upstream than to return downstream to

https://dl.doubtnut.com/l/_4626nzTTY9Qz
https://dl.doubtnut.com/l/_rQVTtW98xDVn
https://dl.doubtnut.com/l/_LkSlZrHOvye1
https://dl.doubtnut.com/l/_29k9K3E7fusc


the same spot. Find the speed of the stream.

Watch Video Solution

52. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

2x2 + x − 4 = 0

53. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

4x2 + 4√3x + 3 = 0

https://dl.doubtnut.com/l/_29k9K3E7fusc
https://dl.doubtnut.com/l/_7t8GHDDp8CsD
https://dl.doubtnut.com/l/_QdOh6oeT8ZBk


54. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

5x2 − 7x − 6 = 0

55. Find the roots of the following quadratic equations, if they

exist. 

Watch Video Solution

x2 + 5 = − 6x

56. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

2x2 + x − 4 = 0

https://dl.doubtnut.com/l/_XgIeTWWELEjz
https://dl.doubtnut.com/l/_lwDT4ddt3Efh
https://dl.doubtnut.com/l/_48JW8C5Y2PQS


57. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

4x2 + 4√3x + 3 = 0

58. Find the roots of the quadratic equation by applying the

quadratic formula. 

Watch Video Solution

5x2 − 7x − 6 = 0

59. Find the roots of the quadratic equation by applying the

quadratic formula. 

x2 + 5 = − 6x

https://dl.doubtnut.com/l/_48JW8C5Y2PQS
https://dl.doubtnut.com/l/_jqUoeb9I9Gkx
https://dl.doubtnut.com/l/_gUkDib1UJuUZ
https://dl.doubtnut.com/l/_r1bknj5WEDlH


Watch Video Solution

60. Find the roots of the following equations: 

Watch Video Solution

x − = 3, x ≠ 0
1

x

61. Find the roots of the following equations : 

Watch Video Solution

− = , x ≠ − 4, 7
1

x + 4

1

x − 7

11

30

62. The sum of the reciprocals of Rehman ages, (in years) 3 years

ago and 5 year from now is  Find his present age.

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_r1bknj5WEDlH
https://dl.doubtnut.com/l/_Sp8fxng2Hvtz
https://dl.doubtnut.com/l/_DwkK8A4ZLHtm
https://dl.doubtnut.com/l/_oGSvOk2LVlQi


63. In a class test, the sum of Moulika’s marks in Mathematics and

English is 30. If she got 2 marks more in Mathematics and 3 marks

less in English, the product of her marks would have been 210.

Find her marks in the two subjects.

Watch Video Solution

64. The diagonal of a rectangular field is 60 metres more than the

shorter side. If the longer side is 30 metres more then the shorter

side, find the sides of the field.

Watch Video Solution

65. The difference of squares of two numbers is 180. The square of

the smaller number is 8 times the larger number.Find the two

numbers.

https://dl.doubtnut.com/l/_7Kj3hRpgxmJd
https://dl.doubtnut.com/l/_Jxlx1gJiU2hX
https://dl.doubtnut.com/l/_U39rHMftgKvq


Watch Video Solution

66. A train travels 360 km at a uniform speed. If the speed had

been 5 km/h more, if would have taken 1 hour less for the same

journey. Find the speed of the train.

Watch Video Solution

67. Two water taps together can fill a tank in  hours. The tap of

larger diameter takes 10 hours less than the smaller one to fill the

tank separately. Find the time in which each tap can separately fill

the tank.

Watch Video Solution

9
3

8

https://dl.doubtnut.com/l/_U39rHMftgKvq
https://dl.doubtnut.com/l/_QPsU4SwPLygC
https://dl.doubtnut.com/l/_3QvwLvC38RTc


68. An express train takes 1 hour less than a passenger train to

travel 132 km between Mysore and Bangalore (without taking into

consideration the time they stop at intermediate stations). If the

average speed of the express train is 11 km/hr more then that of

the passenger train, find the average speed of the two trains.

Watch Video Solution

69. Sum of the areas of two squares is 468  If the difference of

their perimeters is 24m, find the sides of the two squares.

Watch Video Solution

m2

70. Sum of the areas of two squares is 468 . If the difference of

their perimeters is 24 m, find the sides of the two squares.

Watch Video Solution

m2

https://dl.doubtnut.com/l/_HlG8LlZvqbA6
https://dl.doubtnut.com/l/_YGYl0kRkJ9yX
https://dl.doubtnut.com/l/_28PXFNyQ91on


71. A stone is thrown vertically upwards with an initial velocity of

 from the top of a cliff of height 40m.How much time it

take to reach the ground?

Watch Video Solution

10ms− 1

72. If a polygon of 'n' sides has  diagonals. How many

sides will a polygon having 65 diagonals ? Is there a polygon with

50 diagonals?

Watch Video Solution

n(n − 3)
1

2

73. Find the discriminant of the quadratic equation

and hence find the nature of its roots.

Watch Video Solution

2x2 − 4x + 3 = 0

https://dl.doubtnut.com/l/_28PXFNyQ91on
https://dl.doubtnut.com/l/_9TWnPiZno2nM
https://dl.doubtnut.com/l/_jxxKJHIgCfcz
https://dl.doubtnut.com/l/_a0AdgYEvW4wU


74. A pole has to be erected at a point on the boundary of a

circular park of diameter 13 metres in such a way that the

differences opposite fixed gates A and B on the boundary is 7

metres. Is it possible to do so ? If yes, at what distances from the

two gates should the pole be erected ?

Watch Video Solution

75. Find the discriminant of the equation  and

hence find the nature of roots. Find them, If they are real.

Watch Video Solution

3x2 − 2x + = 0
1

3

76. Explain the benefits of evaluating the discriminant of a

quadratic equation before attempting to solve it. What does its

https://dl.doubtnut.com/l/_a0AdgYEvW4wU
https://dl.doubtnut.com/l/_so2QTdw9SGCH
https://dl.doubtnut.com/l/_jk3susZRESYP
https://dl.doubtnut.com/l/_8JSpvVlg2q4y


value signifies?

Watch Video Solution

77. Write three quadratic equations one having two distinct real

solutions, one having no real solution and one having exactly one

real solution.

Watch Video Solution

78. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

2x2 − 3x + 5 = 0

https://dl.doubtnut.com/l/_8JSpvVlg2q4y
https://dl.doubtnut.com/l/_1nTDwijhPiFB
https://dl.doubtnut.com/l/_wvQbbufUBmOl


79. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

3x2 − 4√3x + 4 = 0

80. Find the nature of the roots of the following quadratic

equations. If real roots exist, find them. 

Watch Video Solution

2x2 − 6x + 3 = 0

81. Find the values of k for each of the following quadratic

equations, so that they have two equal roots. 

Watch Video Solution

2x2 + kx + 3 = 0

https://dl.doubtnut.com/l/_AsALXo22BlNV
https://dl.doubtnut.com/l/_wL8uQilkoWTX
https://dl.doubtnut.com/l/_b03E4PdP70D2


82. Find the values of k for each of the quadratic equations, so

that they have two equal roots. 

Watch Video Solution

kx(x − 2) + 6 = 0(k ≠ 0)

83. Is it possible to desigh a rectangular mango grove whose

length is twice its breadth, and the area is 800  ? If so find its

length and breadth.

Watch Video Solution

m2

84. The sum of the ages of two friends is 20 years. Four years

ago,the product of their ages in years was 48. Is the above

situation possible ? If so, determine their present ages

Watch Video Solution

https://dl.doubtnut.com/l/_kyfJ23r7uDFK
https://dl.doubtnut.com/l/_nWgs6HZEUxy7
https://dl.doubtnut.com/l/_W6jUB20sz7lg


85. Is it possible to desigh a rectangular park of perimeter 80m

and area  ? If so, find its length and breadth.

Watch Video Solution

400m2

86. Some points are plotted on a plane. Each point is joined with

all remaining points by line segments. Find the number of points if

the number of line segments are 15.

Watch Video Solution

87. A two digit number is such that the product of its digits, is 8.

When 18 is added to the number, they interchange their places.

Determine the number.

Watch Video Solution

https://dl.doubtnut.com/l/_W6jUB20sz7lg
https://dl.doubtnut.com/l/_v6vzEjuwEMoh
https://dl.doubtnut.com/l/_nGP3u5ygVQv6
https://dl.doubtnut.com/l/_r6L4x4dTyPbi


88. A piece of wire 8m in length is cut into two pieces and each

piece is bent into a squares. Where should the cut in the wire be

made if the sum of the areas of these squares is to be 2 ?

Watch Video Solution

m2

89. Vinay and Praveen working together can paint the exterior of a

house in 6 days. vinay by himself can complete the job in 5 days

less than Praveen. How long will it take Vinay to complete the job?

Watch Video Solution

90. Show that the sum of roots of a quadratic equation

 is .

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)
−b

a

https://dl.doubtnut.com/l/_r6L4x4dTyPbi
https://dl.doubtnut.com/l/_SjPuVhUEICnm
https://dl.doubtnut.com/l/_50alWR2Fc0hQ
https://dl.doubtnut.com/l/_APx8ZcEscV1o


Watch Video Solution

91. Show that the product of the roots of a quadratic equation

 is .

Watch Video Solution

ax2 + bx + c = 0(a ≠ 0)
c

a

92. The denominator of a fraction is one more than twice the

numerator. If the sum of the fraction and its reciprocal is ,

find the fraction.

Watch Video Solution

2
16
21

93. Verify that 1 and  are the roots of the equation 

Watch Video Solution

3
2

2x2 − 5x + 3 = 0.

https://dl.doubtnut.com/l/_APx8ZcEscV1o
https://dl.doubtnut.com/l/_BqFP4XdYQBLP
https://dl.doubtnut.com/l/_o6PpPaEeDvH4
https://dl.doubtnut.com/l/_CvtChdV7DXdM


94.  then what can you say

about roots of the equation ? 

Watch Video Solution

Ifb2 − 4ac > 0inax2 + bx + c = 0,

(a ≠ 0)

95. Find the value of k, if 2 is one of the roots of the quadratic

equation 

Watch Video Solution

x2 − kx + 6 = 0

96. In a rectangle ABCD, AB = x + y, BC = x - y, CD = 9 and AD = 3. Find

the values of x and y. 

https://dl.doubtnut.com/l/_CvtChdV7DXdM
https://dl.doubtnut.com/l/_o9SxtGHTHQD2
https://dl.doubtnut.com/l/_QtDs5MrIROnS
https://dl.doubtnut.com/l/_4EzIQJ3pUY2H


Watch Video Solution

97. Write the nature of roots of the quadratic equation

Watch Video Solution

2x2 − 5x + 6 = 0

98. Write the nature of the roots of the quadratic equation

Watch Video Solution

x2 − 8x + 16 = 0

https://dl.doubtnut.com/l/_4EzIQJ3pUY2H
https://dl.doubtnut.com/l/_5WUoAly4bU2B
https://dl.doubtnut.com/l/_bYlOFfBeELmZ


99. Find sum and product of roots of the Quadratic equation 

Watch Video Solution

x24√3x + 9 = 0

100. Find the roots of the Quadratic equation .

Watch Video Solution

x2 + 2x − 3 = 0

101. Find the values of k for which the quadratic equation

 has equal roots.

Watch Video Solution

4x2 + 5kx + 25 = 0

102. Find the discriminant of the quadratic equation

 and hence write the nature of its roots.3x2 − 5x + 2 = 0

https://dl.doubtnut.com/l/_7Klrc5WFa8CD
https://dl.doubtnut.com/l/_RzyGZ807p5Vd
https://dl.doubtnut.com/l/_PS7XAXVes1g3
https://dl.doubtnut.com/l/_XxEWrzHisGdU


Watch Video Solution

103.  has equal roots, find the value of k.

Watch Video Solution

If9x2 + kx + 1 = 0

104. If the measure of angles of a triangle are 

and difference between the two measures of angles

 then find the values of 

Watch Video Solution

x ∘ , y ∘ and 40∘

x ∘ and y ∘ is30∘ x ∘ and y ∘

105. The sum of a number and its reciprocal is  Find the

number.

Watch Video Solution

10

3

https://dl.doubtnut.com/l/_XxEWrzHisGdU
https://dl.doubtnut.com/l/_haCt0fWVYWRj
https://dl.doubtnut.com/l/_TUKeC0pZmehL
https://dl.doubtnut.com/l/_DD4qMG0CIO5E


106. Is it possible to design a rectangular genden, whose length is

twice of its breadth and area is  ? If so, find its length and

breadth.

Watch Video Solution

200m2

107. If the equation  has equal roots, then find

the value of k.

Watch Video Solution

kx2 − 2kx + 6 = 0

108. A quadratic equation, whose roots are 

Watch Video Solution

2 + √3 and 2 − √3 =

https://dl.doubtnut.com/l/_nCYSe6HeqQyt
https://dl.doubtnut.com/l/_icgnArIwyi4y
https://dl.doubtnut.com/l/_am9ftPJq36QM


109. Without calculating the roots of , explain the

nature of roots.

Watch Video Solution

x2 − 5x + 6 = 0

110. Find the roots of quadratic equation  by

"Completing Square method".

Watch Video Solution

x2 + 4x + 3 = 0

111. Shashanka said that  is a quadratic

equation. Do you agree ?

Watch Video Solution

(x + 1)2 = 2(x − 3)

https://dl.doubtnut.com/l/_xiLLCDP53Zjq
https://dl.doubtnut.com/l/_vEy64gYo1qpY
https://dl.doubtnut.com/l/_7OCMjoDmQxQM


112. Sum of the squares of two consecutive positive even integers

is 100 , find those numbers by using quadratic equations.

Watch Video Solution

113. The perimeter of a right- angled triangle is 60 cm. and its

hypotenuse is 25 cm. Then find the remaining two sides.

Watch Video Solution

114. If - 4 is common root for the quadratic equations

 then find the value of

'k'.

Watch Video Solution

2x2 + px + 8 = 0 and p(x2 + x) + k = 0

https://dl.doubtnut.com/l/_DPianBKglbAl
https://dl.doubtnut.com/l/_toA7PeL7iGpT
https://dl.doubtnut.com/l/_f1IiJU6XQlgO


115. Sum of squares of two consecutive even numbers is 580. Find

the numbers by writing a sultable Quadratle equation.

Watch Video Solution

116. Sum of the areas of two squares is . If the difference if

their perimeters is 40m, find the sides of two squares.

Watch Video Solution

850m2

117. Sum of the present ages of two friends are 23 years, five years

ago product of their ages was 42. Find their ages 5 years hence.

Watch Video Solution

https://dl.doubtnut.com/l/_giRLBRDrZ0Ah
https://dl.doubtnut.com/l/_VYS2l1eTuCH2
https://dl.doubtnut.com/l/_O8Af2luT02mQ


118. If a number when increased by 12, equals 160 times of its

reciprocal, then find the numbers.

Watch Video Solution

119. A train travels 360 km at a uniform speed. If the speed had

been 5 km/h more, if would have taken 1 hour less for the same

journey. Find the speed of the train.

Watch Video Solution

120. Write the roots of quadratic equation 

when .

Watch Video Solution

ax2 + bx + c = 0

b2 − 4ac > 0

https://dl.doubtnut.com/l/_Per5p6hMYMwO
https://dl.doubtnut.com/l/_At8NSSiZO70X
https://dl.doubtnut.com/l/_KzeoGRJCjBHn


121. Write the two roots of quadratic equation 

when  is given.

Watch Video Solution

ax2 + bx + c = 0

b2 − 4ac = 0

122. Find a quadratic polynomial with zeroes  and .

Watch Video Solution

−2
1

3

123. Find the roots of the equation  by the

method of completing the square.

Watch Video Solution

5x2 − 7x − 6 = 0

124. The quadratic polynomial, whose zeros are 2 and 3, is…..

https://dl.doubtnut.com/l/_zI9h2MMvjDtc
https://dl.doubtnut.com/l/_g1DApTiEnh3p
https://dl.doubtnut.com/l/_ocStnAkbJexg
https://dl.doubtnut.com/l/_ikxvhYezo4di


A. 

B. 

C. 

D. 

Watch Video Solution

x2 − 5x − 6

x2 + 5x − 6

x2 − 5x + 6

x2 + 5x + 6

125. Observe the given rectangular figure, then its area in

polynomial function is ………………. 

https://dl.doubtnut.com/l/_ikxvhYezo4di
https://dl.doubtnut.com/l/_VWDUiMD24sUm


A. 

B. 

C. 

D. 

Watch Video Solution

A(x) = x2 + 7x + 30

A(x) = − x2 + 7x + 30

A(x) = x2 − 7x + 30

A(x) = − x2 − 7x + 30

126. Which of the following is a quadratic equation?

https://dl.doubtnut.com/l/_VWDUiMD24sUm
https://dl.doubtnut.com/l/_UkOHnqbTHvPN


A. 

B. 

C. 

D. 

Watch Video Solution

x3 − 6x2 + 2x − 1 = 0

x3 − 6x2 + 2x − 1 = 0

x2 + = 2
1

x2

(x + 1)(x + 2)(x + 3) = 0

127. Observe the following graphs. Which of them are the graphs

of quadratic polynomials?

https://dl.doubtnut.com/l/_UkOHnqbTHvPN
https://dl.doubtnut.com/l/_esUfxhuO3xZG


A. (i), (ii) and (iii)

B. (i) and (iii)

C. (i) and (iv)

D. (i), (iii) and (iv)

Watch Video Solution

128. Which of the following quadratle. Equations the roots are

equal?

A. 

B. 

C. 

D. `x^2 - 1 = 0

x2 − 5 = 0

x2 − 10x + 25 = 0

x2 + 5x + 6 = 0

https://dl.doubtnut.com/l/_esUfxhuO3xZG
https://dl.doubtnut.com/l/_lSG9rLHY4SvM


Watch Video Solution

129. The quadratic polynomial having  as its zeroes, is…..

A. 

B. 

C. 

D. 

Watch Video Solution

and
1

3

1

2

x2 +
5x + 1

6

−6x2 − 5x + 1

x2 −
5x − 1

6

6x2 − 5x − 1

130.  has distinct

real roots. Then…

A. 

Ifx2 − px + q = 0(p, q ∈ R and p ≠ 0, q ≠ 0)

p2 < 4q

https://dl.doubtnut.com/l/_lSG9rLHY4SvM
https://dl.doubtnut.com/l/_zoq7iP505TnV
https://dl.doubtnut.com/l/_4Q4XEoO20dj4


B. 

C. 

D. 

Watch Video Solution

p2 > 4q

p2 = 4q

p2 + 4q = 0

131. In a quadratic equation  then

their roots are ….

A. real and distinct

B. real and equal

C. imaginary

D. none

Watch Video Solution

ax2 + bx + c = 0ifb2 − 4ac > 0

https://dl.doubtnut.com/l/_4Q4XEoO20dj4
https://dl.doubtnut.com/l/_P9GgzJdyTSfL


132. If a number is 132 smaller than its square, then the number is

A. 11

B. 8

C. 9

D. 12

Watch Video Solution

133. If both roots are common to the Quadratic equations

 and , then p =

A. 2

B. 0

x2 − 4 = 0 x2 + px − 4 = 0

https://dl.doubtnut.com/l/_P9GgzJdyTSfL
https://dl.doubtnut.com/l/_p3rpxWQhHXbz
https://dl.doubtnut.com/l/_UPcBtRrkqaq5


C. 4

D. 1

Watch Video Solution

134. The sum of the roots of  is

A. 0

B. 

C. 

D. 6

Watch Video Solution

6x2 = 1

1

6

−
1

6

https://dl.doubtnut.com/l/_UPcBtRrkqaq5
https://dl.doubtnut.com/l/_J31n9QZzO3h3


135. If the sum of a number and its reciprocal is , then that

number is……….

A. 3

B. 4

C. 5

D. 17

Watch Video Solution

17
4

136. The roots of a quadratic equation 

are

A. 

B. 

ax2 − bx + c = 0, a ≠ 0

,
−b + √b2 − 4ac

2a
−b + √b2 + 4ac

2a

,
−b + √b2 − 4ac

2a
−b − √b2 + 4ac

2a

https://dl.doubtnut.com/l/_l1iPRU8lFWWV
https://dl.doubtnut.com/l/_avuRt56inkdd


C. 

D. 

Watch Video Solution

,
b + √b2 − 4ac

2a
b − √b2 − 4ac

2a

,
−b + √b2 − 4ac

2a
−b − √b2 − 4ac

2a

137. One of the roots of the Q.E.  is

A. 

B. 

C. 

D. 

Watch Video Solution

6x2 − x − 2 = 0

1

3

−1

3

−2

3

2

3

https://dl.doubtnut.com/l/_avuRt56inkdd
https://dl.doubtnut.com/l/_WKV973dmCfZR


138. If the sum of the squares of two consecutive odd numbers is

74, then the smaller number is

A. 11

B. 3

C. 7

D. 5

Watch Video Solution

139. The roots of the equation  are

A. 

B. 

C. -4

4x2 + 4√3x + 3 = 0

√3

2

−√3

2

https://dl.doubtnut.com/l/_zcMAwWrRAWgP
https://dl.doubtnut.com/l/_crpUnSW9m1pA


D. -2

Watch Video Solution

140. The sum of a number and its reciprocal is  ,then the

number is

A. 

B. 5

C. 

D. 

Watch Video Solution

50

7

1

7

2

7

3

7

https://dl.doubtnut.com/l/_crpUnSW9m1pA
https://dl.doubtnut.com/l/_kECovHdfchMd


141. The roots of the equation  are

A. 

B. 

C. 

D. 

Watch Video Solution

3x2 − 2√6x + 2 = 0

,
2

√3

−2

√3

,
1

√3

−1

√3

√ , √
2

3

2

3

,
1

√3

5

√3

142. 

A. 0

B. 2

C. 1

Ifx2 − 2x + 1 = 0thenx + =
1

x

https://dl.doubtnut.com/l/_CLIad4QMtOQG
https://dl.doubtnut.com/l/_VlznlVr0eXT5


D. None

Watch Video Solution

143. The roots of the Q.E. 

A. Real and distinct

B. Real and equal

C. Not real

D. Can't be determined

Watch Video Solution

√3x2 − 2x − √3 = 0are

144. One solution of the Q.E.  is2x2 − 5x − 3 = 0

https://dl.doubtnut.com/l/_VlznlVr0eXT5
https://dl.doubtnut.com/l/_IbSo6xjZ7qzi
https://dl.doubtnut.com/l/_zRLBdtV54ckw


A. x = 2

B. x = -1

C. x = -3

D. x = 3

Watch Video Solution

145.  has a root x = 3, then k =

A. 

B. 

C. 

D. 15

Watch Video Solution

If5x2 − kx + 11 = 0

16

3

56

3

−17
3

https://dl.doubtnut.com/l/_zRLBdtV54ckw
https://dl.doubtnut.com/l/_Qsu1btwuCCFz


Watch Video Solution

146. The sum of the roots of the equation 

A. 

B. 

C. 

D. 

Watch Video Solution

3x2 − 7x + 11 = 0

11

3

−7
3

7
3

3

7

147. The positive root of  is

A. 3

B. 5

√3x2 + 6 = 9

https://dl.doubtnut.com/l/_Qsu1btwuCCFz
https://dl.doubtnut.com/l/_etxzfhYDCbrQ
https://dl.doubtnut.com/l/_5UvVNCoc1j1v


C. 4

D. 

Watch Video Solution

2

5

148. The value of p for which  has a real root is

A. 

B. 

C. 

D. 

Watch Video Solution

4x2 − 2px + 7 = 0

p > 2√7

p > √7

p > √5

p > √3

https://dl.doubtnut.com/l/_5UvVNCoc1j1v
https://dl.doubtnut.com/l/_f0JN6Q2PIKXE


149. The roots of  are

A. Real and equal

B. Real and unequal

C. Imaginary

D. None

Watch Video Solution

5x2 − x + 1 = 0

150. Which of the following Q.E has real and equal roots?

A. 

B. 

C. 

x2 − 4x + 4 = 0

2x2 − 4x + 3 = 0

3x2 − 5x + 2 = 0

https://dl.doubtnut.com/l/_IEdi6Yhksucj
https://dl.doubtnut.com/l/_f4P2uvQX99WC


D. 

Watch Video Solution

x2 − 2√2x − 6 = 0

151. The standard form of a Q.E. is

A. 

B. 

C. 

D. 

Watch Video Solution

ax + b = 0

ax2 + bx + c = 0, a ≠ 0

ax3 + bx2 + cx + d = 0

a2x + b2y2 = c2

152. The roots of the Q.E.(√5x − 3)(√5x − 3) = 0are

https://dl.doubtnut.com/l/_f4P2uvQX99WC
https://dl.doubtnut.com/l/_qte6g5lMy9kU
https://dl.doubtnut.com/l/_RdwkkjUCgUGQ


A. 

B. 

C. 

D. 

Watch Video Solution

,
3

√5

3

√5

,
−3

√5

−3

√5

,
3

√5

−3

√5

,
√3

√5

√3

√5

153. The roots of the Q.E.  are

A. 1, 3

B. 

C. 

D. 

Watch Video Solution

(7x − 1)(2x + 3) = 0

,
1

7

3

2

,
1

7

−3

2

,
−1

7

−3

2

https://dl.doubtnut.com/l/_RdwkkjUCgUGQ
https://dl.doubtnut.com/l/_DSwG3nC8ooHP


Watch Video Solution

154. Which of thr following is a Q.E.

A. 

B. 

C. 

D. 

Watch Video Solution

(x + 1)2 = 3(x + 7)

(x − 1)(x + 3) = (x − 2)(x + 1)

x2 + 5x − 7 = (x − 4)2

x3 − 9 = 0

155. The roots of the Q.E. 

 are

A. 

=
9

x2 − 27

25

x2 − 11

±11

https://dl.doubtnut.com/l/_DSwG3nC8ooHP
https://dl.doubtnut.com/l/_dLq9wNAiIRvr
https://dl.doubtnut.com/l/_HV8VMsGxwzLi


B. 

C. 

D. 

Watch Video Solution

±3

±9

±6

156. The roots of the QE 

 are

A. 

B. 

C. 

D. 1, -11

Watch Video Solution

(3x + 4)2 − 49 = 0

1,
−11

3

,
1

3

11

3

,
−1

3

−11

3

https://dl.doubtnut.com/l/_HV8VMsGxwzLi
https://dl.doubtnut.com/l/_Rzh69wOKZplG


157. The sum of a number and its recip- rocal is  then the

number is

A. 2 or 

B. 3 or 

C. 2 or 

D. 5 and 

Watch Video Solution

5

2

1

3

1

2

1

2

1

5

158. The roots of the Q.E. 

A. 10, 8

B. 

(x − )
2

= 9
1

3

,
−10

3

8

3

https://dl.doubtnut.com/l/_Rzh69wOKZplG
https://dl.doubtnut.com/l/_DgbYV2Cb6uCv
https://dl.doubtnut.com/l/_9Dnb1f8u4Pvr


C. 

D. 

Watch Video Solution

,
10

3

−8

3

( − 3, 3)

159. Product of the roots of the Q.E. 

A. 2

B. 

C. 

D. 

Watch Video Solution

3x2 − 6x + 11 = 0is

−11

3

−11

6

11

3

https://dl.doubtnut.com/l/_9Dnb1f8u4Pvr
https://dl.doubtnut.com/l/_aDjLkoGZ1FIS
https://dl.doubtnut.com/l/_UnDJWi3N4DUy


160. The Q.E. whose roots are -2,-3 is

A. 

B. 

C. 

D. 

Watch Video Solution

x2 − 5x + 6 = 0

x2 + 5x + 6 = 0

x2 − 5x − 6 = 0

x2 + 5x − 6 = 0

161. If the equation  has equal roots. Then

A. k= 1

B. k = -1

C. k = 2

x2 − kx + 1 = 0

https://dl.doubtnut.com/l/_UnDJWi3N4DUy
https://dl.doubtnut.com/l/_RNK1aW2TZjAz


D. k = -4

Watch Video Solution

162. If (x - 3)(x + 3) = 16 then the value of x is

A. 

B. 

C. 

D. 

Watch Video Solution

±4

±3

±6

±5

https://dl.doubtnut.com/l/_RNK1aW2TZjAz
https://dl.doubtnut.com/l/_duf02EmgnwBT


163. If the sum of the roots of the Q.E.

 is equal to the product of the

roots, then the value of k is

A. 3

B. 4

C. 2

D. 6

Watch Video Solution

3x2 + (2k + 1)x − (k + 5) = 0

164. The Q.E. whose one root is  is

A. 

B. 

2 − √3

x2 − 4x + 1 = 0

x2 + 4x − 1 = 0

https://dl.doubtnut.com/l/_AaFNLdm2eLzT
https://dl.doubtnut.com/l/_peunsHsxdG3d


C. 

D. 

Watch Video Solution

x2 − 4x − 1 = 0

x2 − 2x − 3 = 0

165. Form a quadratic equation whose roots are k and 

A. 

B. 

C. 

D. 

Watch Video Solution

1

k

x2 + (k + )x + 1 = 0
1

k

xk2 − kx + 1 = 0

x2 − (k + k)x + 1 = 0

x2 − (k + )x + 1 = 0
1

k

https://dl.doubtnut.com/l/_peunsHsxdG3d
https://dl.doubtnut.com/l/_38XRLadhNrvo


166. The roots of a quadratic equation  are

A. 

B. p, 2p

C. -p, 2p

D. -p, -2p

Watch Video Solution

=
x

p

p

x

±p

167. The roots of a quadratic equation 

A. 

B. 

C. 

ax2 + bx + c = 0is

−b + √b2 − 4ac
ac

−b − √b2 − 4
3

−b − √b − 4ac
2

https://dl.doubtnut.com/l/_jtXUO2nfrTd8
https://dl.doubtnut.com/l/_Nzqu8jRVJjKZ


D. 

Watch Video Solution

−b + √b2 − 4ac
2a

168. The product of the roots of the quadratic equation

A. 

B. 

C. 5

D. 3

Watch Video Solution

√2x2 − 3x + 5√2 = 0

−5

3

√2

https://dl.doubtnut.com/l/_Nzqu8jRVJjKZ
https://dl.doubtnut.com/l/_IvjVdAoyjDTB


169. In the above problem =…

A. 

B. 

C. 3

D. 5

Watch Video Solution

a5

3

√2

−3

√2

170. The sum of the roots of the quadratic equation

 is

A. 

B. 

C. 

5x2 + 4√3x − 11 = 0

−11

5

11

4

−4
3

https://dl.doubtnut.com/l/_l4JGWGLbOHsA
https://dl.doubtnut.com/l/_LoS6b6eSiOPj


D. 

Watch Video Solution

√3
−4
5

171. Find the zeroes of the quadratic polynomials given below. Find

the sum and product of the zeroes and verify relationship to the

coeffcients of terms of terms in the polynomial. 

A. 

B. 

C. 

D. 

Watch Video Solution

p(x) = x2 − 4

5

−11

11

5

−11

5

1

5

https://dl.doubtnut.com/l/_LoS6b6eSiOPj
https://dl.doubtnut.com/l/_eXGgkGOJKzr3


172. The quadratic equation whose roots are -3 and -4 is …

A. 

B. 

C. 

D. none

Watch Video Solution

7x2 + X + 1 = 0

x2 + 7x + 12 = 0

x2 − 3x + 1 = 0

173. If one root of a quadratic equation is  then the

quadratic equation is ….

A. 

B. 

7 − √3

x2 − 7x + 3 = 0

x2 − 4x + 6 = 0

https://dl.doubtnut.com/l/_eXGgkGOJKzr3
https://dl.doubtnut.com/l/_L9lRvoMy5d5Q
https://dl.doubtnut.com/l/_mS9dQzkJXsb7


C. 

D. 

Watch Video Solution

x2 − 7x + 1 = 0

x2 − 14x + 46 = 0

174. The nature of the roots of a quadratic equation

 is…..

A. real and distinct

B. real and equal

C. imaginary

D. none

Watch Video Solution

4x2 + 5x + 1 = 0

https://dl.doubtnut.com/l/_mS9dQzkJXsb7
https://dl.doubtnut.com/l/_7pjjEFDBM4Cs
https://dl.doubtnut.com/l/_nbf9AsjpDs9P


175. The nature of the roots of quadratic equation

 is…

A. real and distinct

B. real and equal

C. imaginary

D. none

Watch Video Solution

3x2 + x + 8 = 0

176. The nature of the roots of a quadratic equation

 is….

A. real and equal

B. real and distinct

4x2 − 12x + 9 = 0

https://dl.doubtnut.com/l/_nbf9AsjpDs9P
https://dl.doubtnut.com/l/_O507nRqWAW8S


C. imaginary

D. none

Watch Video Solution

177. The roots of a quadratic equation 

are…..

A. 

B. 

C. 

D. 

Watch Video Solution

(√2x + 3)(5x − √3) = 0

,
1

3

1

√2

,
1

2

3

√5

,
−3

√2

1

5

,
−3

√2

√3

5

https://dl.doubtnut.com/l/_O507nRqWAW8S
https://dl.doubtnut.com/l/_YP7eyxhmxKbN
https://dl.doubtnut.com/l/_ZDOY6jcslrev


178. The roots of the quadratic equation  are…

A. 

B. 

C. 

D. 

Watch Video Solution

=
x2 − 8

x2 + 20

1

2

±2

±6

±13

±7

179. The discriminant of  is…

A. 49

B. 89

C. 20

5x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_ZDOY6jcslrev
https://dl.doubtnut.com/l/_GVCZPaKvrO5t


D. none

Watch Video Solution

180.  then the roots of the quadratic equation

are…

A. distinct

B. equal

C. imaginary

D. none

Watch Video Solution

Ifb2 − 4ac < 0

https://dl.doubtnut.com/l/_GVCZPaKvrO5t
https://dl.doubtnut.com/l/_IPU5v6Cvi9LG


181.  then the roots of the quadratic equation are…

A. real and distinct

B. real and equal

C. imaginary

D. none

Watch Video Solution

Ifb2 − 4ac = 0

182. For what positive value of x the quadratic equation

A. 

B. 

C. 

4x2 − 9 = 0

2

3

−2

3

−3

2

https://dl.doubtnut.com/l/_qrZ4O4OHZGaY
https://dl.doubtnut.com/l/_pRxzfDtyRmLc


D. 

Watch Video Solution

3

2

183. If the roots of a quadratic equation  are real

and equal then  =…

A. 4ab

B. 4ac

C. 

D. 

Watch Video Solution

ax2 + bx + c = 0

b2

ac

4

a2c2

https://dl.doubtnut.com/l/_pRxzfDtyRmLc
https://dl.doubtnut.com/l/_TFzb6aPiWEE5


184. The roots of  are ...........

A. real and equal

B. imaginary

C. real and distinct

D. none

Watch Video Solution

4x2 − 20x + 25 = 0

185. The nature of roots of 

A. real and distinct

B. real and equal

C. complex

3x2 + 6x − 2 = 0is....

https://dl.doubtnut.com/l/_fnq3xCxU1DLZ
https://dl.doubtnut.com/l/_W8yclv8MIeSS


D. none

Watch Video Solution

186. The roots of  are…

A. real

B. not real

C. real and equal

D. none

Watch Video Solution

7x2 + 3x + 8 = 0

187. Sum of the roots of  is..ax2 + bx + c = 0

https://dl.doubtnut.com/l/_W8yclv8MIeSS
https://dl.doubtnut.com/l/_Ynn1ZzC7Dt4L
https://dl.doubtnut.com/l/_cfKhNDh2QrIs


A. 

B. 

C. 

D. none

Watch Video Solution

c

a

b

a

a

b

188. Product of the roots of  is…

A. 

B. 

C. `(-c)/a

D. none

Watch Video Solution

ax2 + bx + c = 0

c

a

−b

a

https://dl.doubtnut.com/l/_cfKhNDh2QrIs
https://dl.doubtnut.com/l/_ARe83V7x6VLF


Watch Video Solution

189.  has real roots if …

A. 

B. 

C. k = 6

D. k = 0

Watch Video Solution

3x2 + ( − kx) + 8 = 0

k < 4√6

k > 4√6

190.  has no real roots if…..

A. 

B. 

4x2 + kx − 2 = 0

k < − √32

k = 10

https://dl.doubtnut.com/l/_ARe83V7x6VLF
https://dl.doubtnut.com/l/_qTQQS1BhUaO7
https://dl.doubtnut.com/l/_yJo0HCC9hteC


C. 

D. none

Watch Video Solution

k < √32

191. The quadratic equation whose roots are 2,3 is…

A. 

B. 

C. 

D. 

Watch Video Solution

x2 − 5x + 1 = 0

x2 − 5x − 6 = 0

x2 − 3x + 1 = 0

x2 − 5x + 6 = 0

https://dl.doubtnut.com/l/_yJo0HCC9hteC
https://dl.doubtnut.com/l/_dOktdNwetVKO


192. If one root of 

A. 3

B. 4

C. 1

D. -1

Watch Video Solution

2x2 + kx − 6is2, thenk = .... .

193. If  has equal roots then ….

A. 

B. 

C. 

x2 − 8kx + 16 = 0

k = ± √2

k = ± 7

k = ± 1

https://dl.doubtnut.com/l/_fXkLxLtfHSqh
https://dl.doubtnut.com/l/_XLhzN0J1nepV


D. none

Watch Video Solution

194. 

A. 

B. 

C. 

D. none

Watch Video Solution

− = . .
x

x − y

y

x + y

x2 + y2

x2 − y2

x2 + y2

x + y

x2y2

x + y

195. + + = . .
2a2 + a − 1

a + 1
3a2 + 5a + 2

3a + 2
4 − a2

a + 2

https://dl.doubtnut.com/l/_XLhzN0J1nepV
https://dl.doubtnut.com/l/_cV8RUGVSSOxB
https://dl.doubtnut.com/l/_MdMYKlKLuvA2


A. 

B. 

C. 2(a + 1)

D. none

Watch Video Solution

+ 2
a

2

a + 1

2

196. 

A. 

B. 

C. 

D. 

Watch Video Solution

+ + = . .
1

a + 3

1

a − 3

6

9 − a2

1

a + 2

3

a + 2

2

a + 1

2

a + 3

https://dl.doubtnut.com/l/_MdMYKlKLuvA2
https://dl.doubtnut.com/l/_yBLXEHA6tInk


Watch Video Solution

197. 

A. 1

B. 

C. x

D. 0

Watch Video Solution

= . .
1 − 1

1 +x

1
1 +x

x2

198. =…...

A. 0

B. 1

(x + )
2

− (y + )
2

− (xy − ). ( − )
1

x

1

y

1

xy

x

y

y

x

https://dl.doubtnut.com/l/_yBLXEHA6tInk
https://dl.doubtnut.com/l/_YuXnIh6CE12k
https://dl.doubtnut.com/l/_sDGbVyrKby99


C. xy

D. 

Watch Video Solution

1

xy

199. Sum of the roots of  is

A. 

B. 

C. 

D. 

Watch Video Solution

bx2 + ax + c = 0

−b

a

c

a

a

b

−a

b

https://dl.doubtnut.com/l/_sDGbVyrKby99
https://dl.doubtnut.com/l/_cNWOU6R6tATE


200. 

A. 

B. 

C. 

D. none

Watch Video Solution

(x − α)(x − β) = 0then

x2 − (α)x + βα = 0

x2 − (α + β)x + αβ = 0

αx2 − xβ + αβ − 0

201. Sum of the roots of  is

A. 

B. 

C. 

−7x + 3x2 − 1 = 0

3

4

1

7

7
3

https://dl.doubtnut.com/l/_2Iy21yxcEOZq
https://dl.doubtnut.com/l/_0F4H3iiVt7U8


D. 

Watch Video Solution

1

2

202. Product of the roots of  is..

A. -1

B. 7

C. 0

D. 1

Watch Video Solution

1 = x2

203. The nature of roots of 3x2 + 13x − 2 = 0

https://dl.doubtnut.com/l/_0F4H3iiVt7U8
https://dl.doubtnut.com/l/_WXYOdtWmbTCM
https://dl.doubtnut.com/l/_9nddXQkNMiR5


A. real and-unequal

B. real and equal

C. complex

D. none

Watch Video Solution

204. 

A. 

B. 

C. 

D. none

Watch Video Solution

If(2x − 1)(2x + 3) = 0thenx. .

or
1

2

−1

2

or
1

2

−3

2

or
1

2

2

3

https://dl.doubtnut.com/l/_9nddXQkNMiR5
https://dl.doubtnut.com/l/_ua4Sp4IhMQWM


Watch Video Solution

205. The roots of  are…

A. real

B. not real

C. complex

D. none

Watch Video Solution

(x − a)(x − b) = b2

206. Product of the roots of is…

A. 1

B. -7

x2 + 7x = 0

https://dl.doubtnut.com/l/_ua4Sp4IhMQWM
https://dl.doubtnut.com/l/_yIMdtZhLcTD2
https://dl.doubtnut.com/l/_kLualnhqEqdH


C. -3

D. 0

Watch Video Solution

207. For what values of m are the roots of the equation

 are equal?

A. 1 or 5

B. - 1 or 2

C. 8 or 1

D. 9 or 1

Watch Video Solution

mx2 + (m + 3)x + 4 = 0

https://dl.doubtnut.com/l/_kLualnhqEqdH
https://dl.doubtnut.com/l/_CO6huahuGSg3
https://dl.doubtnut.com/l/_4NrfdTZhbeuO


208.  are the roots of the quadratic equation 

A. 

B. 

C. 

D. 

Watch Video Solution

Ifα and β

2x2 + 3x − 7 = 0then =
α2 + β2

αβ

−37
16

−37
4

−37
14

37
8

209. If  and  are the roots of  then  =

..........

A. -2

B. 4

α β x2 − 2x + 3 = 0 α2 + β2

https://dl.doubtnut.com/l/_4NrfdTZhbeuO
https://dl.doubtnut.com/l/_DlQIytpzhMy6


C. 8

D. none

Watch Video Solution

210. If  and  are the roots of  then 

=….

A. -3

B. 8

C. 6

D. none

Watch Video Solution

α β x2 − 2x + 3 = 0 α2β + β2α

https://dl.doubtnut.com/l/_DlQIytpzhMy6
https://dl.doubtnut.com/l/_pxFkPpZsBMDU
https://dl.doubtnut.com/l/_5dVLq2Jtz3z8


211. If  and  are the roots of  the value of 

 = ......

A. -10

B. 10

C. 8

D. 12

Watch Video Solution

α β x2 − 2x + 3 = 0

α3 + β3

212. 

A. 8

B. -1

C. 12

Ifα and βare the roots ofx2 + x + 1 = 0thenα2 + β2 =

https://dl.doubtnut.com/l/_5dVLq2Jtz3z8
https://dl.doubtnut.com/l/_ADNTwxyrdOyM


D. 0

Watch Video Solution

213. 

A. 

B. 

C. -3

D. none

Watch Video Solution

Ifα and βare the roots ofx2 − 5x + 6 = 0then the value ofα − β =

±1

±2

https://dl.doubtnut.com/l/_ADNTwxyrdOyM
https://dl.doubtnut.com/l/_yLJqJkMkgnnY


214. In the quadratic equation 

A. 7

B. 0

C. 8

D. 1

Watch Video Solution

x2 + x − 2 = 0, a + b + c =

215. The degreee of any quadratic equation is..

A. 4

B. 1

C. 2

https://dl.doubtnut.com/l/_f1bKieCxPCY5
https://dl.doubtnut.com/l/_ltOezB5RoPid


D. 3

Watch Video Solution

216. Check whether the following are quadratic equation: 

A. 

B. 

C. 

D. none

Watch Video Solution

x(2x + 3) = x2 + 1

x2 + 3x − 1 = 0

x2 − 3x − 2 = 0

x2 + x + 1 = 0

https://dl.doubtnut.com/l/_ltOezB5RoPid
https://dl.doubtnut.com/l/_NMxew1pCYngN


217. Form a quadratic equation from

A. 

B. 

C. 

D. none

Watch Video Solution

x3 − 4x2 − x + 1 = (x − 2)3 =

2x2 − x + 1 = 0

2x2 − 13x + 9 = 0

x2 + x + 1 = 0

218. 

A. 8

B. 0

C. 4

If x + = 2  then x2 + = . .
1

x

1

x2

https://dl.doubtnut.com/l/_b4X8V5N8MssU
https://dl.doubtnut.com/l/_jxfHZ9esZdHs


D. 2

Watch Video Solution

219. The product of two consecutive positive integers is 306. We

need to find the integers.

A. 12

B. 16

C. 18

D. 10

Watch Video Solution

https://dl.doubtnut.com/l/_jxfHZ9esZdHs
https://dl.doubtnut.com/l/_9pfLbVulDgHN


220. A square carrom board has a perimeter of 320 cm. How much

is its area?

Watch Video Solution

221.  are the roots of…

A. 

B. 

C. 

D. all

Watch Video Solution

1 and
3

2

2x2 − 5x + 3 = 0

x2 − 5x + 1 = 0

2x2 − x + 3 = 0

https://dl.doubtnut.com/l/_GPq1XnGhG7d5
https://dl.doubtnut.com/l/_5N3bobQ8BjDb


222. The roots of  are ..........

A. 

B. 

C. 

D. all

Watch Video Solution

√2x2 + 7x + 5√2 = 0

or 7
−5

√2

or − √2
−5

√2

−√2 or
5

√3

223. The roots of  are…

A. 

B. 

C. 

2x2 − x + = 0
1

8

,
1

4

1

2

,
1

3

1

7

,
1

2

1

8

https://dl.doubtnut.com/l/_x6N7e7weCGcL
https://dl.doubtnut.com/l/_8ZnTY2VONdLz


D. 

Watch Video Solution

,
1

4

1

4

224.  then x =..

A. -6 or 2

B. 6 or 7

C. 8 or -9

D. none

Watch Video Solution

x(x + 4) = 12

225.  then x =..x2 − 7x − 60 = 0

https://dl.doubtnut.com/l/_8ZnTY2VONdLz
https://dl.doubtnut.com/l/_6aLk5Nlrjh0c
https://dl.doubtnut.com/l/_svlWjjFbHMA0


A. 12, 17

B. 12, -5

C. 8, 11

D. 12, 16

Watch Video Solution

226. Find the roots of the quadratic equations by factorisation: 

A. 

B. 

C. 3, 4

D. 

3(x − 4)2 − 5(x − 4) = 12

6,
−1

17

8,
−1

2

3,
−4
3

https://dl.doubtnut.com/l/_svlWjjFbHMA0
https://dl.doubtnut.com/l/_xRKlksYJ7P7d


Watch Video Solution

227. 9 and 1 are the roots of….

A. 

B. 

C. 

D. none

Watch Video Solution

x2 − 10x + 9 = 0

x2 − x + 1 = 0

x2 + 3x + 4 = 0

228. On solving  we get x =

A. 5 or -2

B. -1 or -5

x2 + 5 = − 6x

https://dl.doubtnut.com/l/_xRKlksYJ7P7d
https://dl.doubtnut.com/l/_BH4OOWFHjYXc
https://dl.doubtnut.com/l/_3wzO3qIGC0ZL


C. -3 or -7

D. none

Watch Video Solution

229. The equation  has…

A. no real roots

B. real roots

C. equal roots

D. none

Watch Video Solution

5x2 + 2x + 8 = 0

https://dl.doubtnut.com/l/_3wzO3qIGC0ZL
https://dl.doubtnut.com/l/_PiZEsUkIKUDC


230. The discriminant of  is

A. 1

B. 

C. 8

D. 0

Watch Video Solution

3x2 − 2x =
−1

3

−
1

3

231. Discriminant of the quadratic equation  is..

A. 

B. q - 4pr

C. 

px2 + qx + r = 0

q2 − pr

q2 − 4pr

https://dl.doubtnut.com/l/_XWPVy65mum6B
https://dl.doubtnut.com/l/_uVYsLjVBg3Iu


D. none

Watch Video Solution

232. Number of distinct line segments that can be formed out of

n-points is…

A. 

B. 

C. 

D. 

Watch Video Solution

n(n − 1)

2

n

2

n + 1

2

n2(n − 1)

2

https://dl.doubtnut.com/l/_uVYsLjVBg3Iu
https://dl.doubtnut.com/l/_04jLLd56JV1t


233.  has equal roots then k =

A. 3

B. -6

C. 7

D. 6

Watch Video Solution

Ifkx(x − 2) + 6 = 0

234. Which of the following is a quadratic equation ?

A. 

B. `8x^3 + 7x^2 + 1

C. 

x2 − 3x + 1

x2 − x + 1 − 0

https://dl.doubtnut.com/l/_rnGgnY8gKgkD
https://dl.doubtnut.com/l/_FCozprC8t2Qc


D. all

Watch Video Solution

235. If  is a root of  then ….

A. -c

B. 0

C. 8

D. 1

Watch Video Solution

α ax2 + bx + c = 0 aα2 + bα + c =

236. Diagonal of rectangle is ………. units.

https://dl.doubtnut.com/l/_FCozprC8t2Qc
https://dl.doubtnut.com/l/_DVfy55T1yZKu
https://dl.doubtnut.com/l/_kEDoWwuLrznJ


A. 

B. 

C. 

D. 

Watch Video Solution

√l + b2

√l + b

√lb

√l2 + b2

237. =

A. 

B. 

C. 

D. 

Watch Video Solution

(α + β)2 − 2αβ

α2 + β2 + 1

α + β2

α2 + β2

αβ

https://dl.doubtnut.com/l/_kEDoWwuLrznJ
https://dl.doubtnut.com/l/_8SdbDCw4A1nY


Watch Video Solution

238. From the figure, x =...........

A. 7

B. 3

C. 10

D. none

https://dl.doubtnut.com/l/_8SdbDCw4A1nY
https://dl.doubtnut.com/l/_Vz0x6toVDhh9


Watch Video Solution

239. Discriminant of the quadratic equation  is…

A. -10

B. 9

C. 6

D. 5

Watch Video Solution

x + = 3
1

x

240. 

A. 

B. 

Ifα, βare the roots ofx2 − px + q = 0thenα3 + β3 =

p + q3

p − 3p3q

https://dl.doubtnut.com/l/_Vz0x6toVDhh9
https://dl.doubtnut.com/l/_nfsXFkXyUwOf
https://dl.doubtnut.com/l/_B96gFVSarmma


C. 

D. 

Watch Video Solution

p3 − 3pq

p2 − 3pq

241. If one root of  is 5 then p =

A. 8

B. 7

C. -3

D. none

Watch Video Solution

x2 − (p − 1)x + 10 = 0

https://dl.doubtnut.com/l/_B96gFVSarmma
https://dl.doubtnut.com/l/_J9JwUvhZ30ky


242. The coefficient of x in a pure quadratic equation is…

A. 2

B. 0

C. 8

D. none

Watch Video Solution

243.  then x =..

A. 

B. 

C. 

=
x

a − b

a

x − b

b − a or
a

2

b − a or − a

b + a or − a

https://dl.doubtnut.com/l/_ukPKznOvl99F
https://dl.doubtnut.com/l/_GKzJAQkUE9H2


D. all

Watch Video Solution

244. 

A. 

B. 

C. 

D. none

Watch Video Solution

P (x) = x2 + 2x + 1thenP(x2) =

x4 + 2x2 + 1

x4 + 2x + 1

x3 + 2x + 1

245. (1 − 5x)(x + 1) =

https://dl.doubtnut.com/l/_GKzJAQkUE9H2
https://dl.doubtnut.com/l/_fEXwUoDav00q
https://dl.doubtnut.com/l/_fzlvVBeNrEhF


A. 

B. 

C. 

D. 

Watch Video Solution

3x2 + 1 + x

8x2 − 5x + 1

1 − 4x + 5x2

1 + 4x − 5x2

246. If the sum of the roots of  then k = …

A. 

B. 

C. 

D. none

Watch Video Solution

kx2 − 3x + 1 = 0is
−4
3

−4
9

9

5

−9

4

https://dl.doubtnut.com/l/_fzlvVBeNrEhF
https://dl.doubtnut.com/l/_PmF3KCf3cVPR


Watch Video Solution

247.  then k = …

A. 24

B. 16

C. 19

D. none

Watch Video Solution

√k + 1 = 3

248. If 2 is a root of  then r = …

A. -4

B. -14

x2 + 5x + r = 0

https://dl.doubtnut.com/l/_PmF3KCf3cVPR
https://dl.doubtnut.com/l/_7hbjdx2An0P3
https://dl.doubtnut.com/l/_TsDYkNHaohvz


C. 16

D. 8

Watch Video Solution

249. The roots of  are…

A. 2 or -2

B. 2 or 

C. 1 or -1

D. all

Watch Video Solution

x =
1

x

1

2

https://dl.doubtnut.com/l/_TsDYkNHaohvz
https://dl.doubtnut.com/l/_DgQg2LKSnU7q


250. If  are the roots of the quadratic equation 

A. 7

B. 8

C. -3

D. none

Watch Video Solution

α and β

x2 − 3x + 1 = 0then +
1

α2

1

β2

251. "If " ax^2 - 4x + 3 = 1 "then" x = ....and a= ...

A. 1 or 3

B. 2 or 7

C. 8 or 
1

2

https://dl.doubtnut.com/l/_VkoQ4ofrSp8q
https://dl.doubtnut.com/l/_Nnfpttx3JaPg


D. 2 or -3

Watch Video Solution

252.  then other root is….

A. 8

B. 

C. 

D. 

Watch Video Solution

if is a root of6x2 − 13x − 63 = 0
−7
3

1

3

2

9

9

2

253. √x = √2x − 1thenx = ...

https://dl.doubtnut.com/l/_Nnfpttx3JaPg
https://dl.doubtnut.com/l/_P2JnURghYCOc
https://dl.doubtnut.com/l/_N16iRJP6wOW2


A. 1

B. 4

C. 2

D. none

Watch Video Solution

254.  then n = …

A. 13

B. 16

C. 10

D. 12

W t h Vid S l ti

= 55
n(n + 1)

2

https://dl.doubtnut.com/l/_N16iRJP6wOW2
https://dl.doubtnut.com/l/_Ew0xdzI5gh6K


Watch Video Solution

255. 

A. 

B. a

C. 

D. 

Watch Video Solution

√a√a√a...∞ = ...

a1 / 2

a3

a/2

256. 

A. 

B. 

√a + √a + √a + ......∞ = ....... .

1 + √1 + 4a
2

1 − √4a − 2

3

https://dl.doubtnut.com/l/_Ew0xdzI5gh6K
https://dl.doubtnut.com/l/_PRe94SCJJu5S
https://dl.doubtnut.com/l/_pxFuiPIflb04


C. 

D. none

Watch Video Solution

1 + √2

2

257. The quadratic inequation with  is…

A. 

B. 

C. 

D. none

Watch Video Solution

2 < x < 3

x2 + 6x + 5 < 0

x2 − 5x + 6 > 0

x2 − 5x + 6 < 0

https://dl.doubtnut.com/l/_pxFuiPIflb04
https://dl.doubtnut.com/l/_JriH4stm6kS4


258. IF one root of  is square that of the other,

then k=………

A. 2

B. -3

C. -4

D. none

Watch Video Solution

x2 − x − k = 0

259.  then x = ..

A. 9 or -13

B. 8 or -12

C. 11 or -13

x2 + (x + 2)2 = 290

https://dl.doubtnut.com/l/_zng2Bd2AaVVQ
https://dl.doubtnut.com/l/_dkVo3ITW805w


D. all

Watch Video Solution

260.  then x = ….

A. 3 or 

B. 3 of 

C. 1 or 

D. 8 or 

Watch Video Solution

If + =
1

x − 2

2

x − 1

6

x

4
3

−1

3

2

3

7
2

261. A pentagon has… diagonals.

https://dl.doubtnut.com/l/_dkVo3ITW805w
https://dl.doubtnut.com/l/_ZAgc8XwId7xH
https://dl.doubtnut.com/l/_dm8vkDyu9Mbo


A. 6

B. 7

C. 9

D. none

Watch Video Solution

262. Find the roots of the following equations : 

A. - 2 or 1

B. 2 or 1

C. -1 or 3

D. 7 or 

− = , x ≠ − 4, 7
1

x + 4

1

x − 7

11

30

1

2

https://dl.doubtnut.com/l/_dm8vkDyu9Mbo
https://dl.doubtnut.com/l/_ZwUsNrmJviDk


Watch Video Solution

263. The roots of  are…

A. 

B. 

C. 

D. none

Watch Video Solution

2x2 + x − 4 = 0

−1 ± √33

4

−1 ± √31

2

−1 ± √29

2

264. Sum of the roots of a pure quadratic equation is..

A. -13

B. 12

https://dl.doubtnut.com/l/_ZwUsNrmJviDk
https://dl.doubtnut.com/l/_JtJx87e3EKg3
https://dl.doubtnut.com/l/_3MIpEjM3Kjaq


C. -9

D. 0

Watch Video Solution

265.  then y =

A. 12

B. 6

C. 8

D. none

Watch Video Solution

If3y2 = 192

https://dl.doubtnut.com/l/_3MIpEjM3Kjaq
https://dl.doubtnut.com/l/_A8nxms0De12M


266. If <0 then shape of graph is.........b2 − 4ac

https://dl.doubtnut.com/l/_XJToV0AQbjgi


A. (Picture)

B. (Picture)

https://dl.doubtnut.com/l/_XJToV0AQbjgi


C. (Picture)

D. none

Watch Video Solution

267. The general form of a quadratic equation in variable x is……

A.  (a ne 0)`

B. 

C. 

D. 

Watch Video Solution

ax2 + bx + . c = 0

ax + bx2 + c = 0(b ≠ 0)

ax2 + bx = 0(a ≠ 0)

a2x + bx + c = 0(b ≠ 0)

https://dl.doubtnut.com/l/_XJToV0AQbjgi
https://dl.doubtnut.com/l/_MHP5wjyInTFn


268. The possible number of roots to a quadratic equation are….

A. At a maximum of 3

B. At a maximum of 2

C. Infinite

D. At a maximum of 5

Watch Video Solution

269. If the roots of a quadratic equation  are

imaginary then……

A. 

B. 

C. 

px2 + qx + r = 0

q2 > 4pr

q2 < 4pr

q2 = 4pr

https://dl.doubtnut.com/l/_nSltR2M5j6tD
https://dl.doubtnut.com/l/_taTkEc0eUPyQ


D. 

Watch Video Solution

p. = q + r

270. The discriminant of quadratic equation  is…

A. 35

B. 36

C. 33

D. 38

Watch Video Solution

2x2 + x − 4 = 0

https://dl.doubtnut.com/l/_taTkEc0eUPyQ
https://dl.doubtnut.com/l/_PU4SoVmh0UJA

